Question (1)
Directions (1 — 4) : In each of the following questions, select the related letter/word/ number from the given alternatives.

& (14): T 7AF T A R v Rwedl # & weafeua pRARgReD # gy
PURI:?:: HOTEL: 12

(A) 14 (B) 16 (C) 12 (D) 18

Correct Option : B

Explanation :
B P U R I
L A B
16 +21+18 49 = 4
64
= 4letters 16
Similarly,
H OT E L
v bbb
8+15+20+5+12 =60
60
=12

= 5letters

Question (2)

Bhangra : Punjab : : Kuchipudi : ?
ST © Golld FelIgeT : ?

(A) Karnataka/@eiTesh

(B) Tamil Nadu/df#Hersirg

(C) Andhra Pradesh/31er 9=t
(D) Kerala /&%er

Correct Option : C

Explanation :
(C) First is the classical dance of second.

Question (3)

ABC BCD  CDE

. :: : P
G K E
EDF DEN
Al —— B ——
W = B —5
DEF DEF
© 5 D) =~

Correct Option : D



Explanation :

(D)

S1i=

ABC : BCD :: CDE : DEF
& K R v
L4 & +4 4

Question (4)

Wood : Chair : : Wire : ?
ST FAT AR 2
(A) Rope/TEHT

(B) Mesh/3Trelt

(C) Rubber&X

(D) Sand/dTe

Correct Option : B

Explanation :
(B) Chair is made of wood. Similarly, Mesh is made from wire.

Question (5)

Directions (5 — 8) : Find the odd word/letters/ number pair/number from the g iven alternatives.
(A) Electricity Bill/fSsrely faer

(B) Fixed Deposit/amafey st

(C) Share/?@X

(D) Salary/adet

Correct Option : D

Explanation :
(D) In other options, money is deposited whereas in salary money is paid.

Question (6)

(A) Boxing/HeehaToil

(B) Wrestling/geclr

(C) Chess/_ra’sT

(D) Long Jump/erasll &e

Correct Option : D

Explanation :
(D) Long jump is played individually , whereas other games are played between two

players.



Question (7)

Correct Option : D
ExManaﬁon'

D WRGTF IM L O K
[-:::CTES (D) -3
L2 47 e
+2

Question (8)

1 g9
W 97 B "33
15 2
€ 5 D) 1135

Correct Option : D
Explanation :

2
(D) Except 11=, pthers have 100 as a

numerator.
gl _ 100 ,?.i 100 .15 100
11 11" 13 13* 17 17
2 101
11= = —
But, 5 9

Question (9)

Arrange the following words as per their order in the dictionary.

AT ereal @1 Asgehier & QU AT 3oeh A & AR Taiedd Y|
1. Lend

2. Long

3. Loan

4. Life

5. Lie



6. Leopard
(A) 643125
(B) 613425
(C) 165432
(D) 164523

Correct Option : C

Explanation :
(C)Lend Leopard Lie Life Loan Long

1 6 5 4 3 2

Question (10)

Five years ago the age of Radhe and Mohan were in the ratio 1 : 10. The sum of their current age is 43 years. What will be the
difference in their age after 10 years ?

aie a§ qd T8 qUT g H A F A 1:10 AT| 3k TAAGT Y H DT 43§ §] 10 T TN 3R 3G H Il FIT
grem?

(A) 22 years/a¥
(B) 27 years/a¥
(C) 28 years/a¥
(D) 30 years/a¥

Correct Option : B

Question (11)

‘;Hi'lich _cuf ﬂ'u;: fc]]cwiﬁg diaé)'ams; indicates
the best relationship between One day
International, IPL and T-20 International ?

T | wEA-W AN i s, o des
A9 At A-zEA #F A= we Gay S w87

@) C@O ®) @
€ . (D) @ O

Correct Option : D
Explanation :

IPL

Q)

* Ome Day
International



Question (12)

Direction (12): Two statements are given here which are followed by two conclusions. You have to consider the two
statements to be true even if they seem to be at variance from commonly known facts. You have to decide which of the given
conclusions, if any, follow from the given statements.

LT (12): T QY FUT 31T 3TF 3TN Q AsHY RU v & 3M9IFT 37 FYAT F T AGH AR
FAT § 91 § AIS: AT a2dt ¥ Bed gdfia a1 & smusr Avkr &t § & Ru sv st
¥ ¥ FiF a1 Fvwy I RS ¢ ARTT T ¥ FUT F YR W RApreT 1 dFar g

Statements/Sh Yol

All the tomatoes are flowers.
Tl TATeY B &

Some seeds are flowers.

Conclusions/fes&hy:

1. All the tomatoes are seeds. T AT it &

2. Some seeds are tomatoes. G232 asT TATeR &
(A) Only conclusion (1) follows d

Faer forsay (1) IrETOT T &

(B) Only conclusion (2) follows

Fael fAsHY (2) HTETOT FT §

(C) Neither Conclusion (1) nor (2) follows

a o ey (1) & TRy (2) 31eERor R §
(D) Either conclusion (1) or (2) follows

a7 forsawy (1) A (2) ITETOT AT &

Correct Option : C

Explanation :
(C) Seeds or Tomatoes
Seeds
Flowers Flowers
Tomatoes
1.k 2. x

Neither Conclusion (1) nor (2] follows.

Question (13)

Amisha goes 12 metres towards south then turns right and goes 5 metres. She again turns right and goes 12 metres and stops. After
stopping, which direction is Amisha facing ?

AT 12 Hiex SfEoT H R S § R grit 3R {3 A 5 HieX S 8] 98 9 &t 3R sl § 3R 12 HieY el IHdd:
ST B Tehet o TN 31T R fRm # 2w W &7

(A) North/3aX

(B) West/afaar



(C) South/gTeroT
(D) East/qa

Correct Option : A
Explanation :
Amishay

(A) Dg A

Cle—B

Sm

So, Amisha is facing towards the North
direction after stoping.

Question (14)

Directions (14-15) : In the following questions, a series is given with one terms missing. Choose the correct alternative from
the given ones that will complete the series:

f&er (14415): rafaf@a weat A vw aqea drar o § e e ug oo 3 Rw av fwedt F &
aF "ol fawer gAT A IgwHA F QU wY

A/ B,E,F1,?2,0 T, U

(A)J (B)L

(C)K (D)N

Correct Option : B
Explanation :

{Eh ] (351 5
AB 3 L O } u
l 1

F
Rexa el el Hext
Veowel  owel  Weowel  Wowel

Question (15)

6, 15, 35, 77, 143, ?, 323, 437
(A)297 (B) 221

(C)283 (D) 279

Correct Option : B
Explanation :

(B) 2x3 3x5 5x7 7axll

bodo4d

G 15 =1 77
1113 13 =17 17 =19 19% 23

143 221 323 437



Question (16)

Rahul pointed towards the photo of his son and said to Lata, 'Her mother is the daughter of your mother.' How is Rahul related to Lata ?
TGS F I 9T AW A AR A A gU A § e, SR A, I A B Y g o § By g wifer 22

(A) Son/g

(B) Brother/#Tg

(C) Brother-in-law/sfrai

(D) Maternal uncle/&iar

Correct Option : C

Explanation :

[C-} Brother-in-law

Mother i e

o
"-"' mua T n
H;ﬁ’: ul o ¢ R““‘“‘H'}d
T

Mother &

Father r-,_______

Sorn

So, Rahul is Lata's Brother-in-law.

Question (17)

Choose the correct alternatives from the given ones that will complete the series.
ol fashedt & & WET fasheq &1 Tgel Y S foR fow av s@em S Q@ |

PP _GpPP_PP_Qgp_dp_p
(Aypapap
(B)papaq
C)pappp
(D)paqgpp

Correct Option : C
Explanation :

(C)ppep/arpra/ PPR/aPPa/PRP

Question (18)



Direction (18-20) : In gquestion no 18 to 20,
select the missing number from the give

responses.
T4t (18-20) : we weAm 18 & 20 #, fauw v fammei
1 4 faea dem g

24 18 74 38 o4 62

(A) 12 (B) 13
(C) 9 (D) 16

Correct Option : C
Explanation :

o 2418 74438
€ —3 P T 8
64+ 62

=14

Question (19)

56|14 |BO|16| | 7 (29
2121132 1|6

(A) 152 (B) 203
(C) 196 (D) 181

Correct Option : B

Explanation :
(B)14 x4=56 16x5=80 29 x7 =203

2+2=4 342=5 1+6=7

Question (20)

169 | 625 | 1296
64 | 324 | 576

81| 49 | ?

30 | 50 | 70
(A) 75 (B) 100
(C) 150 (D) 200

Correct Option : B
Explanation :



(B) 169 +J64 +/81=13+8+09=30
V6254324 +/49=25+18+7=50

J1296 #4576 +4100=36+24+10=F0

Question (21)

In a cube using given arrangement, which
one will appear opposite to Katrina ?

& E SrETe F WA F1E UF 90 59 A, 9 =y
H F1 w2 F fauia feaEm?

Salman / #Fem

Akshay /@ |Shabhrukh e

Katrina /=2 | Ravina/wm

Kajol/ ==

(A} Shahrukh/¥ME+E
(B) Akshay/# &9

(C) Ravina/T&m1

(D) Salman [HeHME

Correct Option : D
Explanation :

{D} Salman
Alcshay e ™

So, Salman will appear opposite to Katrina.

Question (22)

How many squares are there in the chess board ?
ST @ oA 7 fordet @9t g 87

(A) 204
(B) 64
(C) 192
(D) 144

Correct Option : A
Explanation :



(A)

MNumber of squares in a chess board
=P+P+ P+ + B +67+ T+ &
=1+4+9+ 16+ 25+ 36+ 49 + 64 =204

Question (23)

Find out amongst the four alternative as to
how the pattern would appear when the

transparent sheet is folded at the dotted line ?
ofy wrelt 9= = fafen = orfam e o @
7E Frefatan =n fawed 4 @ fea fasearmm =fiie
& ?

Question figure:

W9 HATeHid:

Answer figures:

(A) (B T (© (D)

Correct Option : C

Question (24)



Find out the alternative figure which
contains question figure as its part.

39 Afea® AFH = =99 w1 fomd v aneta
wffea 21

Questions figure :

WY ATH:

L

Answer figures :
I ATHIET:

O DD S

(A) (B) (C) (D)

Correct Option : D
Explanation :

(D)

Question (25)



A word is represented by only one =zet of
numbers as given in any one of the
alternatives. The sets of numbers given in
the alternatives are represented hy two
classes of letters as in two matrices given
below. The columns and rows of Matrix-1 are
numbered from 0 to 4 and that of Matrix-II
are numbered from 5 to 9. A letter from
these matrices can be represented first by
its row and next by its column. E.g., ‘A’ can
be represented by 02, 14, 33 ete., and 'K’ can
be represented by 57, 69, 88 etc. Similarly,
yvou have to identify the set for the word
PINK".

UF V% Had UF SEN-99E gH I T §, S
T farredl & 0 Tl v ¥ fiem o ) foredi o
U HEn-uqE e % 5 el grn swie w #, S fw
= fau mu % aEgE O 81 svegE-1 # w9 oiR ufE
FERMOAA4 A HEE IR AE-UFSHO A
AEE W UF IR F] UEE T U 3R a1 ° wa
HeEA G S S A ) TEe & AT 02,
14, 33 #f% gr1 Zefa <1 w7 KO # 57, 69,
88 AIfE g TYEN N FEA T T WE |, AT 9=

‘PINK’ % foru @ wqe &1 = 1
Matrix/ 3T=8-1 Matrix/ 3125811

oj11213]4 5|6|7T|8|9
OIN|S|A|C|I 3|IL|B|K|E|P
1|C|I[N|S|A 6|E|PILIB|K
2IS8|A|C )TN TIBIK|E|P|L
3|T|IN|S|A|C S|P|IL(BIK|E
41A|C|T |N|B SIK|E(P|L|B

(A) 78, 23, 86, 98
(B) 85, 30, 66, 69
(C) 66,42, 95, 57
(D) 59, 11, 24, 88

Correct Option : D

Explanation :
(D) 59, 11, 24, 88

P I N K

Question (26)

The national motto 'Satyameva Jayate' inscribed below the Emblem of India is taken from:



W#U@uﬂm#mqﬁymﬁ?m‘mmaﬂﬁ@mb
(A) Katha Upanishad/&2T 3uafawe,

(B) Chandogya Upanishad/@stTr 3uferse,

(C) Aitareya Upanishad/¥aya 3ufavg,

(D) Mundakaupanishad/#usehidase,

Correct Option : D

Explanation :

(D) The words Satyameva Jayate came from Mundaka Upanishad, meaning 'Truth Alone Triumphs'. The Mundaka Upanishad is an
ancient Sanskrit Vedic text, embedded inside Atharva Veda. It is a Mukhya (primary) Upanishad, and is listed at number 5 in the
Muktika canon of 108 Upanishads of Hinduism. It is among the most widely translated Upanishads.

Question (27)

Identify the correct order of the process of soil-erosion from the following.
et 3 & HaT IRes F uE wfear w -

(A) Splash erosion, Sheet erosion, Rill erosion, Gully erosion/

(B) Sheet erosion, Splash erosion, Gully erosion, Rill erosion/

(C) Rill erosion, Gully erosion, Sheet erosion, Splash erosion/

(D) Gully erosion, Rill erosion, Sheet erosion, Splash erosion/

Correct Option : A

Explanation :
(A) Process of soil errosion:- splash erosion,sheet erosion, rill erosion, and gully erosion.

In splash erosion, the impact of a falling raindrop creates a small crater in the soil,ejecting soil particles. »

If the soil is saturated, or if the rainfall rate is greater than the rate at which water can infiltrate into the soil, surface runoff occurs.Sheet
erosion is the transport of loosened soil particles by overland flow.x

Rill erosion refers to the development of small, ephemeral concentrated flow paths which function as both sediment source and
sediment delivery systems for erosion on hillslopes.

Gully erosion occurs when runoff water accumulates and rapidly flows in narrow channels during or immediately after heavy rains or
melting snow, removing soil to a considerable depth.A

Question (28)

The ideal of Welfare State' in the Indian Constitution is enshrined in its:
HRAT Ffeue # e Raerl T & ey @fkd &

(A) Preamble/S&draar &

(B) Directive Principles of State Policy/I= & sfifa foiders fagendr
(C) Fundamental Rights/mifores 31foer &

(D) Seventh Schedule/ATedl 37eTeEr &

Correct Option : B

Explanation :
(B) Directive Principles of State Policy (DPSPs) aim to create social and economic conditions under which the citizens can lead a good



life. They also aim to establish social and economic democracy through a welfare state. The Directive Principles of State Policy is
guidelines/principles given to the central and state governments of India, to be kept in mind while framing laws and policies.

Question (29)

A consumer is said to be in equilibrium, if:

T 3uHiEdr H Rufa amamewar 7 W g A

(A) He is able to fulfil his need with a given level of income/ag 3T & TATA 39eil ST I By oA H A4TH §

(B) He is able to live in full comforts with a given level of income/ag 9T 31T & TATA E{\U‘f  H IRHA T S & fow ga# §
(C) He can fulfil his needs without consumption of certain items/ag F& a3l H WU & foell 3Tl FERAT HT Q F Thel §

(D) He is able to locate new sources of income/dg 3T & T Tl T IdT 9Tl H T&TH §

Correct Option : A

Explanation :
(A) From the economic point of view equilibrium in the marginal utility derived from the goods consumed and money paid.The
consumers would be in equilibrium if the satisfaction derived from each commodity is equal to each other

Question (30)

1 Kilocalorie = Joule.

EN

Correct Option : B

Question (31)

Which one of the following materials is very hard and very ductile?
ot & ¥ FlA-a1 Ty T FOX IR dR FA AT g &2
(A) Carborundum/&RERSH

(B) Tungsten/gareesT

(C) Cast iron/@raT agr

(D) Nichrome/fatshiar

Correct Option : D

Explanation :
nickel, chromium, and iron, usually used as a resistance wire. A common alloy is 80% nickel and 20% chromium, by mass. This alloying
provides nichrome properties like hardness and ductility

Question (32)

Which of the following is correlated with blood pressure?



fFfaf@d # & Fi9-a1 e & Fg-Hafaa g2
(A) Liver/aFd

(B) Testis/gwor

(C) Pancreas/3@aTRT

(D) Adrenal/31fergerh

Correct Option : D

Question (33)

"Hopman cup" is related to which sports?
oA w9 e Qo & F@dfed §?

(A) Football/gedTer

(B) Lawn Tennis/aiisT efar

(C) Badminton/asf&eaT

(D) Cricket/fshare

Correct Option : B

Explanation :
(B) Hopman cup is a hard-court tennis tournament held every year in Australia.Teams from different countries participate in the
tournament. France was the winner for year 2017.

Question (34)

The world's first-ever digital ambassador has been created by which country?
gferar =1 ggen fSfsiee Tsiqd fohe 29 g@RT SR I T 82

(A) Denmark/3-THTER

(B) India/TRe

(C) Portugal/gerarer

(D) Malaysia/FaifRrar

Correct Option : A

Explanation :
(A) The world's first-ever digital ambassador has been created by Denmark that will work on building ties with the global tech giants like
Google, Apple, IBM and Microsoft. The new appointment will be a tech liaison and

reflect a diplomatic power shift between the established nations and privately-owned unions.

Question (35)

State funding of elections takes place in:

A & T AT @RI el HeA1 el 9 giar 82
(A) U.S.A and Canada/g,TH.T. 3 shalls

(B) Britain and Switzerland/fseat 3R Raeerels

(C) France and Italy/SRT 31X 3cell



(D) Germany and Austria/staelr 3R 3iReear

Correct Option : D

Explanation :
(D) Party funding in Austria has been subject to public regulation and public subsidies since 1975. Party finance in Germany is the
subject of statutory reports,in which up to 35 parties file annually with the administration of the German Parliament.

Question (36)

The first writer to use Urdu as the medium of poetic expression was :

T s o T ATEIH & T H 3G F 3UART FACHE HHedad & AU FawH F=ar ar
(A) Amir Khusrau/3/HR. GeRT

(B) Mirza Ghalib/fR=iT anforer

(C) Bahadur Shah Zafar/SgIgX Mg ST

(D) Faiz/thst

Correct Option : A

Explanation :
(A) Amir Khusrau (1253 -1325 CE), a Persian poet was associated with the rulers of Delhi Sultanate. He composed poetry in Arabic and
Persian besides being the first writer to use Urdu as a medium of poetic expression

Question (37)

Which of the following cities is nearest to the equator?
et & & FT-a1 e e Y@ F 9w 82

(A) Colombo/@rerar

(B) Jakarta/serrdt

(C) Manila/Fafrer

(D) Singapore/ MR

Correct Option : D

Explanation :
(D) Singapore is located near the Equator. It has a tropical climate, where it is hot and wet throughout the year. Latitude of Singapore is
1° 22" North of the Equator.

Question (38)

An E-mail address typically consists of a user ID followed by the sign and the name of the e-mail server that manges the user's
electronic post office box.

AT U3H # AfFad IoR IDPT &, 38 a5 e @ar ¥ 3R R 38 ST IR 1 A Qe § S IR & Seaiies
Ui A diFq S Gaer Hiar g

A @ (B)-

(C)# (D)*

Correct Option : A

Question (39)



The most appropriate measure of economic growth is its:

MR AH T 3Mheld A H TG 3T 39 §-
(A) Gross Domestic Product/dehel Eﬁ?{\ EIICY

(B) Net Domestic Product/2[&tr Ee] 3cdTe

(C) Net National Product/Tierel ISERT 341G

(D) Per Capita Real Income/9fa safdd aredfaes 3m

Correct Option : D

Explanation :
(D) Per capita real income is nothing but NNP at factor cost. It means national income is sum total of all factor incomes adjusted for
increase in prices.

Question (40)

When light waves pass from air to glass, the variables affected are:

ST GTT AT gaT H HE g ol ¢, af d¢ e o & Ry wenfad el 8-
(A) Wavelength, frequency and velocity/ aereer, 3Tgfr 31X JT

(B) Velocity and frequency/dar, 3mgfer

(C) Wavelength and frequency/aieresa 3R 3Tgfr

(D) Wavelength and velocity/aRaTeea 3R mﬁr

Correct Option : D

Explanation :

(D) When light enters from rarer (air) to denser (glass) medium wavelength and velocity will get affected. The velocity will decrease.
Moreover, as the ray bent in passing through different media, it results in decrease of wavelength. As such there is no change in
frequency when light enters from air to glass.

Question (41)



Match List-1 (Fuel gases) with List-11 (Major
constituents) and select the correct answer

using the codes

ivern below the lists:

-1 (o ) B - (W ) | it
F A faw T g # vt § deE a2

T GE I W T H

List-1/5=-1
a. CNG /s

b. Coal gas/Fr&a 2.
L

c. LPG/ueds

d Water gas/9= 4.
™

a b c
A} 2 1 3
B 3 4 2
C) 2 4 3
D) 3 1 2

Correct Option : B
Explanation :

(B) Compressed natural gas (CNG) is made by compressing natural gas which is composed of Methane (CH4), it also contain small
amount of ethane.Coal gas typically contains Hydrogen,Methane and Carbon Monoxide.

LPG is the abbreviation or short form of Liquefied Petroleum gas. The major constituent of LPG is Propane and Butane.Water gas is a

T -

List-11/5=1-11
Carbon monoxide,
Hydrogen /#T&4
ST, e
Butane, Propane/
=, WA
Methane, Ethane/
fadm, =49
Hydrogen,
Methane, Carbon

monoﬂdef!‘l‘ﬁﬁ’l,

synthesis gas, containing Carbon Monoxide and Hydrogen.

Question (42)

Which among the following living being has respective organs but does not have brain?

st F § ag Fler-ar woh § Gwa g 3 a @ §, Weqg AfeTsEd @ g 82

(A) Crab/3ersT

(B) Starfish/¥erR fmer
(C) Blood succor/site
(D) Silverfish/feax frer

Correct Option : B

Question (43)

Iris Mittenaere, who has been crowned the new Miss Universe 2016, is from which country?

IERE fAeean, o 5 e gferad 2016 T drer wgalran I §, a8 fove o & wafea g2

(A) Haiti/g<r
(B) France/sere

(C) Colombia/ereifsrar



(D) Norway/aTd

Correct Option : B

Explanation :

(B) Ciris Mittenaere, a dental student from France, has been crowned the new Miss Universe 2016 at the annual pageant at the Mall of
Asia Arena in Metro Manila,Philippines on January 30th, 2017. She is the 2nd Miss Universe from France after Christiane Martel, who
was crowned Miss Universe in 1953.

Question (44)

Match List-I with List-1l and select the
correct answer using the codes given below
the lists.

-1 =1 gA-11 | gifed 1 94 B ™ gf=w
vafed § g w52 w1 IUEm w9 HE I W 99

Exdl

List-1 (Events) List-1I (Results)

-1 (5 11 (afore )

a. Morley Minto 1. Country-wise
Reforms /afa 521 agitation /292
- -

b. Simon Commission/ 2. Withdrawal of a
HEHA FHHEH movement/

AT FT AT

c. Chauri-Chaura 3. Communal
incident /=-= electrorates/
Ecell it fafs

LEGH
d Dandi March/ 4, Communal
ZiE wrE outbreaks/
|yt g
3. lllegal
manufactures
of salt/97%F =
w9y fmm
Codes/2:
a b ¢ d
N3 4 5 2
B4 1 2 3
)2 3 4 5
b3 1 2 5

Correct Option : D

Explanation :
(D) Morley-Minto reforms - 1909;

Simon Commission-1927;
Chauri-Chaura Incident-1922;
Dandi March-1930.



Question (45)

Nanda Devi peak forms a part of:

ser & e v fre §-

(A) Assam Himalayas/3/EH fgdATerT il
(B) Kumaon Himalayas/&#T3 #Terd s
(C) Nepal Himalayas/=Tqrer fgaTera &1
(D) Punjab Himalayas/9<er fgdTer ot

Correct Option : B

Explanation :

(B) Nanda Devi peaks are a part of Kumaon Himalayas located in Chamoli district of Uttaranchal.Nanda Devi is the second highest
mountain in India, and the highest one located within the country.(Kangchenjunga, which is higher, is on the border of India and Nepal.)
It is the 23rdhighest peak in the world.

Question (46)

The fundamental objective of Panchayati Raj system is to ensure which among the following?
Tarr e caaE & fov Aifes Rvw B i @ wn gRed @ $ e §

(1) People's participation in development/ faera & SieTar &r #TefieRY

(2) Political accountability/ITsteiifaes 3R Aca

(3) Democratic decentralization/elra =T fahegntoT

(4) Financial mobilization/31f¥e Targor

Select the correct answer using the code given below.
vafSeat 7 HISET Feh F 3UART FE Tl FA T AT
(A) 1, 2 and 3 only/1, 2 30X 3 shdel

(B) 2 and 4 only/2 30X 4 Hdel

(C) 1 and 3 only/1 3(R 3 Fadr

(D)1,2,3and 4/1,2,3 3R 4

Correct Option : A

Explanation :
(A) The fundamental object of Panchayati Raj system is to ensure people's participation in development, political accountability and
democratic decentralization.

Question (47)

Participatory Notes (PNs) are associated with which one of the following?
Fewreh gfaser (Wve) e # & fhg vk & @ 3 82

(A) Consolidated Fund of India/#TRa @I dfad & &F

(B) Foreign Institutional Investors/facelt Teamera faaeret &

(C) United Nations Development Programme/&g#d g faehrd &dishal &
(D) Kyoto Protocol/&eT Mershiel &

Correct Option : B



Explanation :
B) Participatory Notes (PNs / P-Notes) are instruments used by investors or hedge funds that are not registered with the SEBI
(Securities and Exchange Board of India) to invest in Indian securities. Participatory

notes are instruments that derive their value from an underlying financial instrument such as an equity share and,hence, the word,
'derivative instruments'.SEBI permitted Flls to register and participate in the Indian stock market in 1992.

Question (48)

Which one of the following Organic compounds has fruity smell?
et & ¥ g Fafas Qe @1 7y wer S g 82

(A) Alcohol/Teaiger

(B) Aldehyde/tfesgiss

(C) Ester/T¥eY

(D) Ether/g2k

Correct Option : C

Question (49)

Humburger effect is otherwise known as:

AT aREee & fard & ¥ foFT ol &7 7 S SAer 87
(A) Sodium pump/afETa g

(B) Anaerobic metabolism/YaRIfae 3cU”oT

(C) Chloride shift/FeiRTss e

(D) Respiratory product/2a&eT HTITHeT

Correct Option : C

Question (50)

Who has been appointed as the new Commissioner of Delhi Police?
feeh gfow & AT 3mgad & w9 7 e fFe o g

(A) Neeraj Kumar/aksl $HAR

(B) Alok Kumar/3iTelleh FHAR

(C) Y S Dadwal/aT$ T&H s3dTel

(D) Amulya Patnaik/31Hed g1

Correct Option : D

Explanation :
(D) Amulya Kumar Patnaik, the 1985 batch IPS officer, has been appointed as the new Commissioner of Delhi Police. He succeeded
Alok Kumar Verma, who has been appointed as the new chief of Central Bureau of Investigation (CBI).

Question (51)



The price of sugar is increased by 25%. As a result, a family has decreased its consumption by 40%. The expenditure of the family on
sugar is decreased by

Al & H1T 7 25% I FEradr g =T § IROMA TTFT Teh IRAR o 39elr Dl Hr @ud 7 40% HT FAr FX | IRIR g@rT el
Wﬁwmmﬁmﬁﬁm?ﬁmg@

(A)15% (B) 25%
(C)18% (D) 20%

Correct Option : B

Explanation :
(B) +25% — 40% + (+25%) of (—40%) = — 25% So, expenditure of sugar decreases by 25%

Question (52)

Fresh fruit contains 68% water and dry fruit contains 20% water. How much dry fruit can be obtained from 100 gm of fresh fruits?
Y el H 68% Tl BIcT § TUT FW Bl H 20% U= AT 8] 10 I Y&ty el A fohcd W el IIed e ST Tehel §72
(A) 48 gm/aTH

(B) 35 gm/amH

(C) 40 gm/ammeT

(D) 42 gm/amH

Correct Option : C

Explanation : B R
(C) Fresh fruit has 68% water, so 32% is
fruit content.
Dry fruit has 20% water, so 80% is fruit
content.

Let the weight of dry fruit be y kg.
ATQ,

80
.ﬁﬁlﬂﬂ—m %y

=y=40gm
- Weight of dry fruit is 40 gm.

Question (53)

6 years ago, mother's age was 12 years more than his son's age. If the sum of their present ages is 30, then what is the present age of
son?

6 Y d, A H 3TY 3Tk GF H I3Y F 129§ S M| IR 3ok A Y F AT 30 I B, A GF B acHA g F2; R?
(A) 8 years/a¥
(B) 9 years/a¥
(C) 12 years/a¥
(D) 14 years/a¥

Correct Option : B
Explanation :



(B) Let the present age of mother be xyears.
.. Present age of son = (30 — x] years

& years ago, mother's age = (x — 6) years
and son's age = 30 —x— 6 = 24 — x years
According to the question,
(x—6)—(24-x =12

=x—-6-24+x=12

=2x-30=12
=2x=12+ 30
= dx=42
=x=21

.. Present age of son = 30 — 21 = 9 years

Question (54)

tanB + sin @

———F iz equivalent to:
tan® —sinf 9

The value of
tan® + sin B

SR T 5 7
o T A [ wR @

A sech-1 B 1+cos*H
(A) sech+l (B) 1-cos?B

cosecf+1 1+cosB
() cosecH -1 (D) 1-cos@

Correct Option : D
Explanation :
tan @ + sin @

(D) tanf—sinf

sin @ : : 1
+s8inf mnﬂ(msﬂ+l] et

_IJ seci—1

cos b

.:D513+1 N 1+cos6
o1 1 " 1-cosh

Question (55)



The area of a circle with radius 8 cm is
trisected by two concentric circles. The
ratio of radii of the concentric circles in
ascending order is :

8 Wt = =1 99 F 49Fa # % gHiEa 749 gn
A TR i A " S 2 SR g e
FTA A wW 0 #-

(A) 2:3:4 B) 1:2:3

[C) J2:.3:2 D) 1: J2: .3

Correct Option : D
Explanation :

I
(D} Area of 2=

3
8 cm
s
2
Areaufy=r[
R e 2
nRE-wrt=
B!I
R2-—r2= —
3
8 B
- R — =
3 3

3 J3

S Theratinofradii=8:R:r

82 8

"R T

=1:%:%=J§:ﬁ:l

.. The ratio in ascending order = 1: f2: |f3




Question (56)

If 2 is a positive acute angle and
2 sin a + 15 cos?a = T then the value of
sin’o — cos’a is

IfZ o TF JAREF ZAEM E A0 2sina + 15 cos?
a =7 ¥, sinu— cos’a ¥ WA &-

5 7
(A) 53 B) 55
7 5
© 53 D) 57

Correct Option : B
Explanation :
(B} 2sino + 15cos?a =7
= 2 sine +15 (1 — sin%) = 7
s 2ming + 15 - 15sinu =7
= 15anfu—2anu—-8=0
o 15sin?n - 12sing + 10 sineg— 8=0
oo 3sing (S5sina— 4) + 2(5sine—-4) =0
2. [Ssino— 4) (3sina+ 2) =0
s 3sine+ 220 but 5 sine—4=0

- Bsing =4 = sino = E = COS 0 = E

_ &0 By 7
o sin — cosin = E |z ===

Question (57)

A bag contains Rs.287 in the form of Rs.5, Rs..2 and Rs.1 coins. The number of coins are in the ratio of 4 : 6 : 9. Find the number of
Rs.1 coins. ,

TR Aol H 5, F2 R 1 aTel $287 & ek ¢ Fenl i TS &1 3qured AT 4:6:9 8| JoF F F1 & fhFen! i1 Fem AT A2
(A)42 (B)54

(C)63 (D) 49

Correct Option : C

Explanation :



(C) Let us convert the ratio in ¥ 1 form

4 : & : 9
+ i J
S b Qx

x5 =z dx1
20 12x Qx

As, Total amount = ¥ 287
[20x+ 12x + Ox] = 287

x=7

S Valueof Tl coin=9=7 =63

] 63
S No.of 1 coin = “1— = (3

Question (58)

A man purchased two articles for Rs.1500. If he sells the first article at 20% profit and the second article at 50% loss then find the
amount of profit/loss, if C.P. of Ist article is equal to selling price of 2nd article.

Teh TAfFd o & aegsi T ¥1500 H Wien| A g€ Tger aE N 20% O W ST § AAT GE TE P 50% F gl W, v
AT g & AR AT W, I Tg aXG I FT Hod qEY G & FT Aed F WK B

(A) Rs.200 loss/gTfar
(B) Rs.150 loss/gTfar
(C) Rs.150 profit/eITeT
(D) Rs.200 profit/eITeT

Correct Option : B
Explanation :

(B) Let the CP of first article = x
then the CP of second article = 7500 - x

ATQ,
] 6x
8P of first article = ?
: 1500 —x
SF of second article = —2—'
: 1500 - x
Given, x = —é—

= 2x+ x= 1500
= 3x = 1500= x= 500
.. CP of first article = 500
8P of first article will be = 600

- Profit= ¥ 100

CP of second article = 1500 - 500 = 1000
1500 -1000

3P of second article will be = — 2

- Loss =% 250
So, over all loss = 250 - 100 =% 150



Question (59)
1 , 1
If x+ — =3, then find the value of x5+ x_ﬁ
X
1 1 )
g x + - =3 9, £+ —& ¥ 9

(A) 322 (B) 512
(C) 324 (D) 501

Correct Option : A
Explanation :

1 1y
1A]x+—=3=..*~[X+—] =3
xX X
a2 : 2=0 - 7
s 4 o— = f o— =
o = == -
:[Iz+_1_]’=?3
x
2 ¥ g S |
5'){.’2! + ‘;:'; +3_12_? X +F =3,43
1
=x"+F+33<15<7=343

1
=0+ o =343-21 =322

Question (60)



In the given figure 'O is the centre of the
circle and P A T is a tangent which touches
circle at point A. Find the mesure of 2°.

fumfEdOoTm I EIMPAT % w9
@ E, | ga F A WY = 8 2w uA Fh
FiI

g A T
(A) 50° (B) 30°
(C) 60° (D) 40°
Correct Option : A
Explanation :

(A)

-+ x* is a angle in the alternative segment
for <BAT

= ZBAT =x=40°

-+ I is angle at centre and »* is angle in
the remaining are

=P =xx2=80°

- in ACAB, #0B2 = ZOAB=2"
=y+z+z=180°

= 80° + 2z= 180°

= z=50°

Question (61)

G is centroid of the equilateral AABC. If
AB = 8 cm, then length of AG is

G UF HHaE d =1 F= 8197 AB = 8 9. 7,
A AG T UH TE

(A) 643 cm/¥f.  (B) 23 cm/

(C) % cm/#H. (D) % cm /5,



Correct Option : C
Explanation :

(C) A

B ) c

AB=8cm
BD=4cm
SADB =90°

- AD = Jap’- BD?
= 8247 = J64-16 = 48 = 43 cm

Question (62)

Two persons A and B walk from point P to (),
which are at a distance of 14 km, at 3 km/h
and 4 km/h respectively, B reaches Q and
returns immediately, again meets A at R.
Find the distance from P to E.
7 =t A 94 B, fag PR Q %1 i foa =9 %1
70 14 fFll. & 371 @R w9 3 fedeoa 7o 4
ftdiara #1 9= @ 990 §1 B, Q W TEEw T:
Hed w9 A | fag R W figera 1 P 991 R % 4=
I g T w7
(A) 12 km /T (B) 16 km /.
(C) 28 km /. (D) 18 km /fFH.

Correct Option : A

Explanation :

(A) Distance travelled by A = 2 = distance

_ a
between two points = [ﬂ rr b]

3
=2x 14 =% F=121{m

Question (63)



If x=ab-d, y=blc-—a) and z = cla - b,

) x 3 y 3 = a
then find the valueof | —| + || + |
a b C

g x=alb-d, y=blc-a) AW z=cla-b) #,

~£3+£3+[E)3 .
@ |2 . ~| ® E wm F

(A) XYz (B) 3xy=z
abe che

(C) xyz = abe (D) Y=
3abe

Correct Option : B
Explanation :

X
(B) x=alb-d == =(b-d
y=blc-a =7 =(c-q

z=c{a—b}:.§ = (a-b)

Y-
= (b—d?+ [c—a? + (a— b)?

[ b—c+ec—a+a-b=0]

=3.(b-d.(c-a.(a-b

Question (64)

What is the smallest number which leaves remainder 3, when divided by any of the numbers 5, 6 or 8, but leaves no remainder when it
is divided by 9?

a8 OIS & SIS HEAT FAT gl TAd 5,6 A7 8 W HIT ol W 3 AV o T 9 o097 G TR IS AW o «wr?

(A) 123 (B) 603

(C)723 (D) 243

Correct Option : D

Explanation :
(D) LCM of 5, 6 and 8 = 120 Required number = 120K + 3 When K = 2, 120 x 2 + 3 = 243 Required number = 243 and it is also
completely divisible by 9.

Question (65)



A dishonest dealer decided to sell his goods
at cost price, but he uses a weight of 850
gm for one kg weight. Find his gain percent.
TF M S A R T # i WA
fem frv=m w7 &, W 9% = feeimm a=@ #1 9w
850 T T F1 TEIE FIA §1 THH A FAvE

A FL?
11 11
A) 13 —% B 17—%
(A) 137° (B) 17
13 5
11—% 15—"9%
(C) 11=% (D) 13 7°
Correct Option : B
Explanation :
g Error
(B) Percent Gain = - w— % 100
_ 150 _ 300 _ .11,
R T R T

Question (66)

A certain amount earns simple interest of Rs.2150 after 5 years. Had the interest been 4% more, how much more interest would it have
earned?

T AT g & 59§ 9T 2150% T ATIRYT TS T @l §] AT sATST T &X 4% 31T gy o e 31fde sarer
aTed grer?
(A) Rs.135
(B) Rs.180
(C) Rs.240

(D) Data inadequate/3TeT 3M9Ted

Correct Option : D

Explanation :
(D) We should have S.1., principal and time to find the rate.

Since the principal is not given, so data is inadequate and we can't find the required interest.

Question (67)



The angle of elevation of the top of a tower
from a point on the ground is 30° and
moving 10 metres towards the tower it
becomes 60°. The height of the tower is

UF HEAR & ¥ & I w6 weE & e fag |
30° % 3R WHR #1 3T 10 Wi 990 W 9% 60° 8
EcRAR i e

(A) 5m/Hi (B) 543 m/.

(C) 4.3 m/. (D) 4 m/i.

Correct Option : B

Explanation :
(B) A
60" 30
B D i
. Distance
Height of the tower = P S——T
10 10
BB

Question (68)

P and Q can do a piece of work in 30 days, while Q and R can do the same work in 24 days and R and P can do it in 20 days. They all
work together for 10 days. When Q and R leave, how many more days will P take to finish the work?

P gur Q farell &1 &1 30 BT 7 o W &, Safd Q aur R 3/ 1 24 AT F gar RT P 381 &1 &1 20 Rt & a0 &@oha &,
Tl 10 feoT T T FF A 8] 59 Q IAT RF OIS & &, P FI FATCT ol 7 fhder 310 foar aiem?

(A) 21 days/feeT
(B) 15 days/feeT
(C) 18 days/fe=T
(D) 28 days/fe=T

Correct Option : C
Explanation :



(C) P+Q - 30 4
Q+R 24 120—5

R+P-20 &

1 dayworkof P+ Q + B = 7.5 units/day

- Efficiency of P = 2.5 units/day

Remaining work after 10 days = 45

Time taken by P to complete the work
45

e 18 days

Question (69)

b

If sin B = ————, 0 = 8 < 90° find the
Wai+b?
value of tan 0.

ﬂﬁsinﬁ=—,_ﬂ2b+bz,(}*:E«:Qﬂ’iﬁ,ﬂ’ltanﬁ
F1 WA T\ H
b ol
A —_—— B —
(A) eyl (B) 5
- b
C) —— D —
O e Poa

Correct Option : D

Explanation :
_ b
(D} =sinf = M
b! 2 a
cos fl = Jl_ 7.2 =J 2ﬂ R R
a +b a“+b a“+b
sinf b
s tan @ = = =
cosll a

Question (70)

Three co-prime numbers are in such a way that the product of the first two is 551 and that of the last two is 1073. The average of the
three numbers is:

AT | ST WEAW 58 YHR ¢ T TUH @l H7 AU 551 AL JHfecad ar H IqulAhel 1073 §| el Fean3i #r ad F24r g2
(A)27.6
(B)28.3



Correct Option : B

Explanation :
(B] As the numbers are co-prime, they
contain only 1 as the common factor.
Also, the given two products have the middle
number in common.
S0, middle number

=H.C.F. of 551 and 1073 = 29

Fi ber = [@] =10
irst number = o e

Third ber = i =37
ird number = | —=| =

= Sum = (19 + 29 + 37) = 85

85
.. Required average = g =283

Question (71)

The length of the diagonal BD of the
parallelogram ABCD is 15 cm. If P and () are
the centroid of the AABC and AADC
respectivel}r. then the length of the line
segment PQ

qa:maﬁgaaacna%fam BD #i &= 15
Tt 21 9fz P 3t Q FWM: AABC 791 AADC %
F%% ¥, 9 TE-|ve PQ #1 o fHa e
(A) 4 cm/@ (B) 5 cm /=W

(C) 6 cm/¥. (D) 8 cm /®.

Correct Option : B
Explanation :



Centroid is the point where medians
intersect. Diagonals of parallelogram bisect
each other.

1
OP= 3 ®x7.5=20.5cm

1
o0 = 3 x7.5=25cm

LPQ=25+25=5cm

Question (72)

In the first 18 overs of a cricket match, the run rate was only 2.5. What should be the run rate in the remaining 32 overs to reach the
target of 345 runs?

%ﬁﬁﬁﬂ%qzm183113?#’1?1‘63%!?2.521T|2Twr32mﬁ345m$a&wﬁq§aﬁ$ﬁvﬁmmmwmm

Correct Option : D

Explanation :
i 345 (2.5 8)
(D} Required run rate = ——————
32
-200 0.375
Al

Question (73)



Directions (73-75) : Study the chart carefully
and answer the questions.

Tiwr (73-75): 21E = AFYES ST HE AT WA
& I 2

720

GO0
540 |-
Ty I —

Production )
L
B

[ o]
o
=]

120

I A
Yeaars/Td 5§ 3 8 R 8 § 8
The chart shows production of an item
during given years.
sme fau o & Sh fedt T & e

FYTIAT £

The production from 2013 to 2017 increased by-
2013 F 2017 T 3cdrel & &0 gs-

Correct Option : C
Explanation :

(C) Production in 2013 = 360 tonnes
Production in 2017 = 720 tonnes
Percent increase in production
_ 720-360

360

»100 = 100%

Question (74)



Directions (73-75) : Study the chart carefully
and answer the questions.

Tiwr (73-75): 21E = AFYES ST HE AT WA
& I 2

720

GO0
540 |-
Ty I —

Production )
L
B

[ o]
o
=]

120

I A
Yeaars/Td 5§ 3 8 R 8 § 8
The chart shows production of an item
during given years.
sme fau o & Sh fedt T & e

FYTIAT £

The production in 2016 in comparison to the production in 2012 increased by
2012 &1 ol 3 2016 3 Icureat & ey g ¥

(A) 100% (B) 125%

(C) 150% (D) 175%.

Correct Option : C

Explanation :

(C] Production in 2016 = 600 tonnes
Production i 2012 = 240 tonnes

600240

P t increa = —l 00
EIrCent 1ncr 50 240

360
= —x100 = o,
2403 150%

Question (75)



Directions (73-75) : Study the chart carefully
and answer the questions.

Tiwr (73-75): 21E = AFYES ST HE AT WA
& I 2

720

GO0
540 |-
Ty I —

Production )
L
B

[ o]
o
=]

—
[~
=]

I A
Yeaars/Td 5§ 3 8 R 8 § 8

The chart shows production of an item

during given years.

sme fau o & Sh fedt T & e
F9TiAT E1

The production decreased from 2014 to 2015

b}r_

2014 8 2015 ¥ ITEA o fRel % g¢ 82

(A) 12%%

1
:B} 6 ann

1
C) 11-%

(D) 9%%

Correct Option : C
Explanation :
(C) Production in 2014 = 540
Production in 2015 = 480
540 - 480 &
540

Percent decrease = 100

60
—%Klm

1
=11=%
9



Question (76)

Direction : In Question nos. 76 to 78 some part of the sentences have errors and some are correct. Find out which part of a
sentence has an error and b lacken the ova | corresponding to the appropriate letter (A), (B), (C). If a sentence is free from
error, blacken the oval corresponding to (D) in the Answer Sheet.

He could not plan his strategy (A)/ until he knew (B)/ whom his opponents could be. (C)/ No error (D)

Correct Option : C

Question (77)

None of my friends (A)/ are applying (B)/ for this job. (C)/ No error (D)
Correct Option : B

Question (78)

Owing to inflation (A) restaurants have hiked their prices (B)/ by approximate thirty percent. (C)/ No error (D)
Correct Option : C

Question (79)

Directions : In Question nos. 79 to 81, sentences given with blanks to be filled in with an appropriate word(s). Four alternatives
are suggested for each question. Choose the correct alternative out of the four and indicate it by blackening the appropriate
oval in the Answer Sheet.

When Aditya returned he gave his friends short of his holiday.
(A) story (B) account
(C) tale (D) history

Correct Option : B

Question (80)

Inspite of our best efforts, we failedto__ any new facts from him.
(A) elicit (B) evoke

(C) eject (D) enlist

Correct Option : A

Question (81)

Anita me of a girl | used to know.
(A) remembers (B) recalls
(C) recollects (D) reminds

Correct Option : D



Question (82)

Directions : In question nos. 82, out of the four alternatives, choose the one which best expresses the meaning of the given
word.

ADULATORY

(A) Discreet (B) Insulting

(C) Praising (D) Funny

Correct Option : C

Question (83)

Directions : In question nos. 83, choose the word opposite in meaning to the given word.
FOSTER

(A) Repress (B) Accept

(C) Adopt (D) Control

Correct Option : A

Question (84)

Directions : In question nos. 84, four words are given in each question, out of which only one word is spelt correctly/wrongly
out of them. Find the word spelt correct/wrong and mark your answer in the Answer Sheet.

(A) Immutiable (B) Marvellous

(C) Scurrilous (D) Resilience

Correct Option : A

Question (85)

Direction : In Question nos. 85 to 87, four alternative are given for the Idiom/Phrase in bold in below sentences . Choose the
alternative which best expresses the meaning of the Idiom/Phrase and mark it in the Answer Sheet.

To go haywire

(A) To be in jubilation (B) Protest

(C) To become out of control (D) To leave the venue

Correct Option : C

Question (86)

To get along

(A) To manage to
(B) To go with
(C) To leave
(D)

D) Work helplessly
Correct Option : A



Question (87)

In a jiffy

(A) Suddenly (B) Outstanding
(C)Inafix (D) Appropriate
Correct Option : A

Question (88)

Direction: In Question nos. 88 to 92, a sentence/ a part of the sentence is italicised in underlined. Below are given alternatives
to the italicised part at (A), (B), (C) which may improve the sentence. Choose the correct alternative. In case no improvement
is needed your answer is (D). Mark your answer in the Answer Sheet.

Had he known more about the intention of the person, he might not have accepted the offer.
(A) He had known more

(B) Since not more was known
(C) If he would know more

(D) No improvement

Correct Option : D

Question (89)

Everybody was in the street enjoying themselves the victory of India in worldcup

(A) to enjoy themselves the victory

(

B)

(C) enjoyed themselves on the victory
(D)

Correct Option : B

enjoying himself the victory

No improvement

Question (90)

They were no longer able to provide the help their children need.
(A) helped their children need

(B)

(C) help that their children need
D)

(
Correct Option : B

help their children needed

No improvement

Question (91)

Many a young man have served his country nobly.

(A) young men have served their
(B) young men have served his
(C) young man has served his
(D) No improvement

Correct Option : C



Question (92)

Don't forget to call me up after you reach Delhi.
A) shall reach

B) you have reached

D) No improvement

(
(B)
(C) would reach
(D)

Correct Option : D

Question (93)

Direction : In Question nos. 93 to 95, in the following question, out of the four alternatives, choose the one which can be
substituted for the given sentence.

Statement to be proved, explained or discussed

(A) Agenda (B) Proposition

(C) Innuendo (D) Postulate

Correct Option : D

Question (94)

Objects that are used to do a particular job
(A) Hydrophobia (B) Paraphernalia

(C) Claustrophobia (D) Progeria

Correct Option : B

Question (95)

Specializes in ear diseases

(A) Otologist (B) Rhinologist

(C) Endocrinologist (D) Gerontologist
Correct Option : A

Question (96)

Direction (Q. No- 96 - 100) : In these question you have two brief passages with six questions following the passage. Read the
passage carefully and choose the best answer to each question out of the four alternatives.

Passage — 1

Marie Curie was one of the most accomplished scientists in history. Together with her husband, Pierre, she discovered radium, an
element widely used for treating cancer and studied uranium and other radioactive substance. Pierre and Marie's amicable collaboration
later helped to unlock the secrets of the atom. Marie was born in 1867 in Warsaw, Poland, where her father was a professor of physics.
At an early age, she displayed a brilliant mind and a casual personality. Her great exuberance for learning prompted her to continue with
her studies after high school. She became disgruntled, however, when she learned that the university in Warsaw was closed to women.
Determined to receive a higher education, she defiantly left Poland in 1891 entered the Sorbonne, a French university, where she
earned her master's degree and doctorate in physics.

What kind of collaboration helped Curie's to unlock the secrets of the atom?



(A) friendly (B) competitive
(C) courteous (D) industrious

Correct Option : A

Question (97)

Passage — 1

Marie Curie was one of the most accomplished scientists in history. Together with her husband, Pierre, she discovered radium, an
element widely used for treating cancer and studied uranium and other radioactive substance. Pierre and Marie's amicable coll aboration
later helped to unlock the secrets of the atom. Marie was born in 1867 in Warsaw, Poland, where her father was a professor of physics.
At an early age, she displayed a brilliant mind and a casual personality. Her great exuberance for learning prompted her to continue with
her studies after high school. She became disgruntled, however, when she learned that the university in Warsaw was closed to women.
Determined to receive a higher education, she defiantly left Poland in 1891 entered the Sorbonne, a French university, where she
earned her master's degree and doctorate in physics.

What will best describe Marie Curie's personality?
(A) strong (B) lighthearted
(C) humorous (D) envious

Correct Option : A

Question (98)

Passage — 1

Marie Curie was one of the most accomplished scientists in history. Together with her husband, Pierre, she discovered radium, an
element widely used for treating cancer and studied uranium and other radioactive substance. Pierre and Marie's amicable collaboration
later helped to unlock the secrets of the atom. Marie was born in 1867 in Warsaw, Poland, where her father was a professor of physics.
At an early age, she displayed a brilliant mind and a casual personality. Her great exuberance for learning prompted her to continue with
her studies after high school. She became disgruntled, however, when she learned that the university in Warsaw was closed to women.
Determined to receive a higher education, she defiantly left Poland in 1891 entered the Sorbonne, a French university, where she
earned her master's degree and doctorate in physics.

When she learned that she could not attend the university in Warsaw, Marie felt __ .
(A) hopeless (B) annoyed

(C) happy (D) perversely excited

Correct Option : B

Question (99)

Passage — 1

Marie Curie was one of the most accomplished scientists in history. Together with her husband, Pierre, she discovered radium, an
element widely used for treating cancer and studied uranium and other radioactive substance. Pierre and Marie's amicable collaboration
later helped to unlock the secrets of the atom. Marie was born in 1867 in Warsaw, Poland, where her father was a professor of physics.
At an early age, she displayed a brilliant mind and a casual personality. Her great exuberance for learning prompted her to continue with
her studies after high school. She became disgruntled, however, when she learned that the university in Warsaw was closed to women.
Determined to receive a higher education, she defiantly left Poland in 1891 entered the Sorbonne, a French university, where she
earned her master's degree and doctorate in physics.

Marie left Poland and travelled to France to enter the Sorbonne.
(A) boldly (B) immediately
(C) perversely (D) annoyingly

Correct Option : A



Question (100)

Passage — 1

Marie Curie was one of the most accomplished scientists in history. Together with her husband, Pierre, she discovered radium, an
element widely used for treating cancer and studied uranium and other radioactive substance. Pierre and Marie's amicable collaboration
later helped to unlock the secrets of the atom. Marie was born in 1867 in Warsaw, Poland, where her father was a professor of physics.
At an early age, she displayed a brilliant mind and a casual personality. Her great exuberance for learning prompted her to continue with
her studies after high school. She became disgruntled, however, when she learned that the university in Warsaw was closed to women.
Determined to receive a higher education, she defiantly left Poland in 1891 entered the Sorbonne, a French university, where she
earned her master's degree and doctorate in physics.

Marie Curie's doctorate was in which academic discipline?
(A) Medicine (B) Cancer studies
(C) Radiation Chemistry (D) Physics

Correct Option : D

Question (101)

Directions (1 — 4) : In each of the following questions, select the related letter/word/ number from the given alternatives.

A& (14): AT vAF ma # R v RAwedt § & weafeua seRecgden #t 9l
BABY : CEKO : : BABA: ?

(A) CERQ (B) CEKS

(C) CERS (D) CEKQ

Correct Option : D

Explanation :
(D)As, B A B Y
) T e r o ¥
+1° |27 |+3° |+4
l 20 15 25
C E K O 21 16 26

I 441 256 a76

Question (102)

64:8::28:7
(A)5(B)6
(©)7(D)8

Correct Option : B

Explanation :
1x6=6=22%x4=82x8=16=>(B)6x4=24

Question (103)

231:491::302:7?



(A) 806 (B) 904
(C) 472 (D) 562

Correct Option : B
Explanation :

(BjAs, 2 3 1

FF)

Question (104)

Letter : Word : : Word : ?
38 @ Usg @ @ W : ?
(A) Letter/316X

(B) Poem/&faar

(C) Language/&TST

(D) Sentence/area

Correct Option : D

Explanation :
(D) A group of letters form a word and a group of words form a sentence.

Question (105)
Directions (5 — 8) : Find the odd word/letters/ number pair/number from the given alternatives.
fader (s9): RF 71T Rwedl F ¥ Rww weasremEn gramE 1 9fa

(A) 24 (B) 120
(C) 336 (D) 360

Correct Option : D

Explanation :
(D) Except (D), others are in form of (x3 — x) where x=3, 5, 7.

Question (106)

(A) PINK (B) BLACK
(C) RED (D) YELLOW

Correct Option : D

Explanation :
(D) In 'YELLOW' we can find two vowels i.e. 'E and O', whereas in others only one vowel is present.



Question (107)

(A) Asia/TfRrr

(B) Australia/3ieeforar
(C) Canada/a=rar

(D) Africa/3TsRTeRT

Correct Option : C

Explanation :
(C) Except (C), other are continents.

Question (108)

(A)2(B)3
(€)s (D)1

Correct Option : D

Explanation :
(D) Except (D), other are prime numbers

Question (109)

A farmer built a fence around his square plot. He used 37 fence poles on each side of the plot. How many poles did he need altogether?

T A & 39a qeRR @ & AR AR v a1s F AT fhar| 38e g3 3R 37 915 & diell 1 ger R 38 Fer e
qrel Fr 3TaLTHhaT Tar?

(A) 100
(B) 144
(C) 108

(D) None of these/3s18f & HIS =T&T

Correct Option : B

Explanation :
(B) Since each pole at the corner of the plot is common to its two sides, so we have : Total number of poles needed = 37 x 4 — 4 = 148
—4=144

Question (110)

Pointing to a girl Sandeep said, "She is the daughter of the only sister of my father." How is sandeep related to the girl?
waars;’r@rmg?waﬂ?fg’trm“mﬁm,“agmﬁmén‘samﬁrag?rﬁaé‘r?rda"rcrwas‘aﬁrﬂﬁn—awﬁéﬁa%?
(A) Uncle/amar

(B) Cousin/a<RT &S

(C) Father/faar

(D) Grandfather/eTer



Correct Option : B

Explanation :
(B) The girl is the daughter of the sister of Sandeep's father. Hence, the girl is the

Question (111)

Mahi, in order to go to playground started from his house in the east and came to a crossing. The road to the left ends to a theatre,
straight ahead is the hospital. In which direction is the playground?

Yo & Hee W S & AT A I o) S B g ¥, IR AR § TUT T FABIT G AT ¥ A IR 7 q€€r R )
FATTT g1 8, 9 [T W 3T g Tl & HareT foma fgem 1 82

(A) North/3a]
(B) South/gf&or
(C) East/qa

(D) West/afasr

Correct Option : A

Explanation : . _
(A) (N)
Flayground
c .
(W) < rossine House (E)
Hospital l
Theatre
E)

Question (112)

Directions (12-13) : In the following questions, a series is given with one terms missing. Choose the correct alternative from
the given ones that will complete the series:

& (12413 Peafaf@a weal # o spEa R = § W & g o § R v Rwedt &
¥ 95 w8 RFeq gfRAT ot aegwa A Q@

6, 4,6, 15, , 517, 8278

(A) 49 (B) 64

(C) 81 (D) 121

Correct Option : B

Explanation :
(B)6x05+1=44x1+2=66x2+3=1515x4+4=6464x8+5=517517 x 16 +6 =8278

Question (113)



Which of the following diagrams indicates
the best relation between Ass, Pet and
Horse?

7 F % :R-H Wl T, WE 99 9" § 4"
Ay 3Fm wE B 7

() B) CE
() OOO (D)

Correct Option : D
Explanation :
(D) Ass and Horse are different from each

other but both are pet.

Pet

Horse
Ass g

Question (114)



Directions (14): In the given guestion two
statement are given followed by two
conclusions I and II. You have to consider the
statements to be true, even if they seem to be
at variance from commonly known facts. You
have to decide which of the given conclusion,
if any, follow from the given statement.
e (14): fau o wyw § =7 wEA 3w s S e
179 I &1 susi fram s & TR s v €, = =%
AW 79 A § fe= wee g wh e Fofa
w1 & T fau o et 6 @ F9-m ffrem w0 @
fau o e T SFET wd €, afa W En
Statement /T
All cars are cats. /Tt 11 fawe H.
All fans are cats. /@ 9@ fawel 21
Cnnclusinnsfw:
I.  All cars are fans. /39 FH TE F
Il. Some fans are cars./®@ 9@ ®X 2
(A) Only I conclusion follows.
Fael Tewd | FE w2
(B) Only II conclusion follows.
Fael [ a0 FE B
(C) Either I or II follows.
= A A 1 e s wa g
(D) Neither | nor II follows.
F A1 e g T R

Correct Option : D
Explanation :

(D]

MNeither [ nor II follows.

Question (115)

Arrange the words given below in a meaningful sequence.
T ereel A Tw WH HH H yaedd H|

1. College/arelst 2. Child/aTels

3. Salary/ddst 4. School/faeaTer

5. Employment/IISieTR
(A)1,2,4,3,5(B)2,4,1,5,3
(C)4,1,3,5,2(D)5,3,2,1,4

Correct Option : B
Explanation :



B2®4@1®5®3

Question (116)

Direction (16-18) : In question no 16 to 18,
select the missing number from the give
responses.

fordfor (16-18) : wo == 16 9 18 o, fau o famwet

Y ¥4 farm T i
a8
o8
(ﬁ 39 2 |7 12)
18
3
(A) 150 (B) 164
(C) 142 (D) 154
Correct Option : A
Explanation :
6
(A) 62+ 5 =36+3=39

8
g+ 5 =64+4=68

L 12
12# ?=l44+6=150

b | 4

42+ —=16+2=18

Question (117)



4 | 5|6 8

2 13|5] 4

3 [2)3] 2

109 (59 | ? | 158
[A) 147 B 183
IC) 97 (D] 108

Correct Option : B
Explanation :

Bl 4=3-22+(4+2+3)=100+9=109
(5%2-3)2+(5+3+2)=49+10=59
(Bx2-4)*+(8+4+2) =144+ 14 = 158
EBx3-53PF+6+5+3)=169+ 14 =183

Question (118)

144 144 ?

24 36 48 16 24 36 18 16 32
4] 264 B) 144
IC] 288 (D] 432

Correct Option : C
Explanation :
(C) LCM (24, 36, 48) = 144
LCM (16, 24, 36) = 144
LCM (18, 16, 32) =288

Question (119)



From the given answer figures, select the
one in which the gquestion figure is
embedded.

B e
W WFE e 5

Question figure /U¥T 3MeRfA:

Answer figures /377 .Hrgﬁrﬂ?:

(A) (B) (€ (D)

Correct Option : A

Question (120)

Chm.:ns.e the hﬁ:-:. that is .si.mﬂa.r to ﬂ'lE box
formed from the given sheet of paper.

T A =99 F A EU T §E A e wiw
% HOH 21
Question figure /W9 3MEl:

-

-

Answer figures /37 HTeRfoal:

Yy

(A) Only A/®=a A

(B) OnlyB and C/#3# B 3R C
(C) Only A and D/%=d A 3 D
(D) A,B,Cand D/A,B,C #R D

Correct Option : D

Explanation :
(D) The two half-shaded faces lie opposite to each other and one of the three blank faces appears opposite to the face bearing a dot.
Clearly, each one of the four cubes shown in figures (A), (B), (C) and (D) can be formed by folding the sheet shown in figure.

Question (121)

If MSD = 263808, OMG = 302614, then BANJO = ? ;



Jfg MSD = 263808, OMG = 302614, ar BANJO = ?
(A) 0402282032
(B) 42282030

(C) 0402281832
(D) 0402282030
Correct Option : D

Explanation :
1“3 1“9 it 1H5 133 E’ g & 1,4 l“l] lHE
FI 2 2 2 2 2 2 2 2
26 3808 30 2614 04 02282030

Question (122)

Find out from amongst the four alternatives
as to how the pattern would appear when
the transparent sheet is folded at the dotted
line.

fau 0 = faedl § 9, 39 fawey =1 997 w1 fagd
Tz wHEsl WiE ®1 =T i@ W GiEd % =@ W\
famrmi

Question figure /Wy 3T :

<<

Answer figures/397 IFfAm :
T e o o)

Correct Option : A

Question (123)



Identify the figure that will complete the
pattern.

W AT F TEEH W T w1 [ e
Question figure /U7 3T&TA :

Answer figures/ 397 TTaRfaal
(A) (B) (C) (D)

Correct Option : D
Explanation :

(K
A[A]

Question (124)

Choose the correct water image of the given
figure from amongst the four alternatives.

feu U AW fawedl § W S wiAtas w1 9ad wil
Question figure /W97 3TFH :

Answer figures /397 3Tehfaal
(A) (B) € (D)

Correct Option : D

Question (125)



What is the minimum number of colours
required to fill the spaces in the given
diagram without any two adjacent spaces
having the same colour?

e AR i a s mR g F o w9 9
w0 R 0 1 sEvaRa e, Toed et el
™F IO T % 7 =7

A) 6 B 5
c) 4 D) 3
Correct Option : D

Explanation :

(D) The figure may be labelled as shown.

Now, in order that no two adjacent spaces be
shaded by the same colour, the spaces T, U
and S must be shaded with the colours of the
spaces P, () and R respectively.

Also the spaces X, V and W must be shaded
with the colours of the spaces 5, T and U
respectively i.e. with the colours of the
spaces R, P and Q respectively. Thus,
minimum three colours are required.

Question (126)

Which of the following pairs is correctly matched?

Frafafed 7t & & Fa-ar 77 T o § e B w8
(A) Guru Amar Das - Miri and Piri/

e I T - A AR Y

(B) Guru Arjun Dev - Adi Granth/

T ISl 4 - 3T I

(C) Guru Ram Das - Dal Khalsa/

T TH S — Eel WIerT



(D) Guru Gobind Singh - Maniji/
% aMfde &g - #sir
Correct Option : B

Explanation :
(B) Guru Hargobind - Miri and Piri; Guru Gobind Singh - Dal Khalsa

Question (127)

The book "Far and Away:Reporting From the Brink of Change" has been authored by whom?
I “HR U8 3 R wia g B 3 Ior fraes qanr foddr 78 82

(A) Steve Donoghue/¥id Si=gT

(B) Salman Rushdie/To#TeT T&Y

(C) Andrew Solomon/Ugd_ HiellHleT

(D) Joshua Hammer/SiTe[AT §#X

Correct Option : C

Explanation :

(C) The book "Far and Away : Reporting From the Brink of Change" has been authored by Andrew Solomon. It is a big, sumptuous
collection of those pieces of reportage and travel writing. It is inspired by love, uncertainty about home and a celebration of freedom
which valuably warns that freedom must sometimes be learned.

Question (128)

Which of the following phenomena might have influenced the evolution of organisms?
et A F @ia-dr gear Shal & faera & genfad wdr §2

1. Continental drift/AgiedIda Fgra

2. Glacial cycles/fG#geT (TR#ed =wsh)

Select the correct answer using the code given below.

AT T 7T FIS FH TART X T IA HT aIeT B
(A) 1 only/&aer 1

(B) 2 only/3aer 2

(C) Both 1 and 2/1 T 2 &t

(D) Neither 1 nor 2/ df 1T & 2

Correct Option : C

Explanation :

. (C) Continental drift has affected the evolution of Animals. Pangaea split apart in the Triassic period (245 to 208 million years ago)
dividing landmass in gondwanaland and lavrasia. The rearrangement of landmass lead diversity among animals. Glacial period helped
into the evolution of many species as they provided a favourable condition for there growth.

Question (129)

Who among the following have the right to vote in the elections to both the Lok Sabha and the Rajya Sabha?
T & @ e oinget 3R TSTHT aell & FoArd H Hlell HT PR §?

(A) Elected members of the Lower House of the Parliament/



whE & fae ged & faifad deear @

(B) Elected members of the Upper House of the Parliament/

G & 3o el & fodidd AGedr

(C) Elected members of the Upper House of the State Legislature/
T faueHse & 399 ool & fadifad weedr &t

(D) Elected members of the Lower House of the State Legislature/

T ueFEsa & Fae ded & Aaifaa aeeat #r

Correct Option : D

Explanation :

(D) As Indian follows Universal Adult Suffrage. Elected members of the Lower House of the State Legislature i. e., The Elected
members of the lower house of the State legislature have the right to vote in the elections to both the Lok Sabha and Rajya Sabha. The
State Legislature besides making laws also has one electoral power in electing the President of India. Elected members of the
Legislative Assembly along with the elected members of Parliament are involved in this process.

Question (130)

A meteor is:

T 34T -

(A) A rapidly moving star/

ST § ST g3 ant

(B) A piece of matter which has entered the Earth's atmosphere from outer
STEY e ReT & gl & argAvse A AL fhar g3 Rl gard o gehs
(C) Part of a constellation/

& (ARTAUSE) 1 feedm

(D) A comet without a tail/

oo 4 &1 T A

Correct Option : B

Explanation :
(B) Meteor is a small celestial body which has entered the Earth's atmosphere by the gravitational force of Earth, when they pass close
to it. Meteors typically occur in the mesosphere, and most range in altitude from 75 km to 100 km.

Question (131)

Most of the desert plants bloom during night time because:

IRrEa # siftewer 9 a9 § TH9 Wed § F=ife-

(A) Their blooming is controlled by low temperature/Tell &l f&e=T Fa ATGATT W AR e g

(B) They are sensitive to the phases of moon/d TegaAT H¥ g2 & Ufa FdcaAfer g

(C) The desert insects eat away flowers during day timeXTEd & H3 foeT & FHT Foll T @I A1 g

(D) The desert insects are active during night timeXPIed & S T & AT T @ g

Correct Option : A

Explanation :
. (A) The blooming of desert plants is controlled by low temperature.



Question (132)

Who was the chief guest for the 2016 Republic Day of India?
arore fead 2016 % HEF Al @i 42

(A) Khalifa bin Zayed Al Nahyan/

G foeT SIIE 37er TGl

(B) Maktoum bin Rashid Al Maktoum/

HAhqA T TG 37T HhcH

(C) Sheikh Mohammed bin Zayed Al Nahyan/

AW AEFAG 9o TG 31T AEAT

(D) Zayed bin Sultan Al Nahyan/

e faret Feldlel 37el wArgaret

Correct Option : D

Explanation :
(D) Sheikh Mohammed bin Zayed Al Nahyan Sheikh Mohammed bin Zayed Al Nahyan, the crown prince of Abu Dhabi, will be the chief
guest for the 68th Republic Day celebrations of India on January 26, 2017

Question (133)

Agricultural income tax is assigned to the State Government by:
[T THER H N 3 [fese fFar s &

(A) Finance Commission/fax 3TaeT garT

(B) National Development Council Ifegr fa@ra aRwe, gart
(C) Inter-State Council/3{cR-Tsd IRWE, garT

(D) The Constitution of India/TR & HfquTs ganT

Correct Option : D

Explanation :

(D) Art. 269 says taxes on income other than agricultural income shall be levied and collected by the Government of India and
distributed between the Union and States. Entry 46 in the state list of Seventh Schedule. This gives power to the state governments to
impose agricultural income tax

Question (134)

Which short film has won the first prize at the Swachh Bharat Short Film Festival (SBSFF)?

e ARd oY fhed Hglcda (SBSFF) & foeet # & fohg oy fhed o 9¥d REPR ST 82
(A) Chembuku Moodindi/<r&gg Fel=er

(B) Murga/#at

(C) Sarkarmi Rati Wadho/&Reralt Ifa arer

(D) Nahna Doot/si=gT ge

Correct Option : B

Explanation :

(B) The short film "Murga", which was directed by young filmmaker Katyayan Shivpuri from Maharashtra, has won the first prize at the
Swachh Bharat Short Film Festival (SBSFF). The short film promotes the idea of clean India in which "Murga" as the metaphor d epicts
the victims that citizens have made of themselves and of the children by not keeping the surroundings clean. Minister of Information and
Broadcasting, M Venkaiah Naidu awarded Katyayan with a certificate and a cash prize of Rs 10 lakh.



Question (135)

Which one of the following edicts mentions the personal name of Ashoka?

rfof@a Raear & & 5a v &7 s & T3 &1 afFqad 3o fRar amr 872
(A) Kalsi/arersT

(B) Rummindei/3f&Fes

(C) Special Kalinga Edict/fafrse o fRremera

(D) Mask/HTER

Correct Option : D

Explanation :
(D) Maski inscription at Raichur doab in Karnataka mentions his personal name, Devanam Piyadasi.

Question (136)

Proportional representation is not necessary in a Country where:
Fquifaes gfaffted v g # smaeas =gt § -

(A) There are no reserved constituencies/

JgT FS IRfAT T &7 7 &

(B) A two-party system has developed/

Teel SR R ¥

(C) The first past-post system prevails/

Il IEC-GIFT JOTell &1 Jelel &

(D) There is a fusion of presidential and parliamentary forms of government/
STeT TR Trseuta iR F@d w9 F Forge &

Correct Option : B

Explanation :
(B) Palitical scientists speculate that proportional representation leads logically to multi-party systems, since it allows new parties to
build a niche in the legislature

Question (137)

What is the correct sequence of the following events?
AT aea3il 1 WeT 3igshal &1 gam?

1. The Lucknow Pact/a@s13 FHsAIAT

2. The Introduction of Dyarchy/g&er QI&eT &I @37l
3. The Rowlatt ActRTele Tee

4. The Partition of Bengal/&3TTel T Tq3TSTeT

Codes/%c
(A)1,3,2,4(B)4,1,3,2
(C)1,2,3,4(D)4,3,2,1
Correct Option : B



Explanation :
(B) Lucknow Pact - 1916; Introduction of Dyarchy Under Montford Reforms (GIA 1919) - July 1918; Rowlatt Act - March 1919; Partition
of Bengal - 1905

Question (138)

In India, the steel production industry requires the import of:
HRT # Tl 3T & AT F AU nargear §-

(A) Saltpetre/2nRT

(B) Rock phosphate/Iish HREC

(C) Coking coal/ahIfehar shrer

(D) All of the above/3RIeFd Tafr

Correct Option : C

Explanation :
(C) The coal found in India is mainly of noncoking quality and hence coking coal has to be imported. 70% of the steel produced today
uses coal. Coking coal is a vital ingredient in the steel making process.

Question (139)

Consider the following:

fefaf@d | TR w4

1. Disputes with mobile cellular companies/HIaTsel Hefek HUfadl & @Y faare
2. Motor accident cases/HIeX gHeaT & HIH

3. Pension cases/dere HATHr
For which of the above Lok Adalats are held?

R GU 1T AT H & has T e 3Erad 1 3T gial 872
(A) 1 only/Faer 1

(B) 1 and 2/1 3iX 2

(C) 2 only/3ael 2

(D)1,2and 3/1,2 3R 3

Correct Option : D

Explanation :
(D) Lok Adalats are being held in all the three areas

Question (140)



Name the mountain ranges marked as 1,
2, 3 and 4 in the map of Jammu & Kashmir.
W S HYEE F HEtEE § Ea 9 gEen 1,
2,3 34 & W &-

The mountains ranges marked 1, 2, 3 and
4 are respectively:

%1 TE TRIE ®1 GEGHEn 1, 2, 3 30 4 F1 FHiwd F
{A] Ladakh, Zanskar, Karakoram and Pir
Panjal/#=rE, ST, FAHAE A1 7 T
(B] Karakoram, Ladakh, Zanskar and Pir
Panjal / FWSITH, TEME, AT 31 91 999
(C] Karakoram, Zanskar, Pir Panjal and
Ladakh /FRERE, Siww, dHdaw 3t =@
(D] Ladakh, Pir Panjal, Karakoram and
Zanskar 7=, TR Y96, FHHAE AR A=
Correct Option : B

Explanation :
(B) According to the physiography map of India the mountains ranges found in Jammu and Kashmir is Karakoram which is marked as
1" in figure. Ladakh range which is marked as '2', Zanskar range which is marked as '3', and Pir Panjal which is marked as '4'.

Question (141)

Which of the following pairs is not correctly

matched?

= gl § 6 wiE-T g w1E gt 2 27
Product/ Chemical compound
I TTaTEfE dife

[A) Vinegar/fa1 Acetic acid in water

o+t ¥ ufafew ufas

(B] Formalin/ Formaldehyde in

EtCIGE water [T § FHIfrEEES

(C] Rectified spirit/ Methanol in water/
wiifua feafe T § A

(D] Tincture iodine,/ Iodine in ethanolf
HEIEH # foame 39 § smEEA

Correct Option : C

Question (142)



The most appropriate measure of economic growth is:
IRF P F AT F GG 3TGFA 3T B
(A) Gross Domestic Product of a country's/

Teh Y & Hehel TS 3cU1G A

(B) Net Domestic Product/

et e 3euTe #

(C) Net National Product/

Tohe! UM 3eu1e &

(D) Per Capita Real Income/

gfa cafed 3ma &

Correct Option : D

Explanation :
(D) Per capita real income is nothing but NNP at factor cost. It means national income is sum total of all factor incomes adjusted for
increase in prices.

Question (143)

A common Rodenticide is:

TTROT Ficehal Rl (FgTepel FATRIH) §-
(A) Zinc phosphide/fSie ®IEHRIZS
(B) Zinc oxide/3iTFaTSs

(C) Zinc carbonate/fSi Fefae

(D) Zinc sulphate/fSis Tethe

Correct Option : A

Explanation :
. (A) Rodenticides (Rat poison) are "pest control chemicals" used for purpose of killing rodents.

Question (144)

Who has won the 2016 Nobel Prize in Physiology or Medicine?
pforiielrsl ar Rfdcar & a¥ 2016 & el QPR fhea ST 872

(A) Shinya Yamanaka/fear Ir&T=TehT
(B) Youyou Tu/gg

(C) Yoshinori Ohsumi/aTRIART g
(D) Christian de Duve/ffEa=e & g&

Correct Option : C

Explanation :

(C) The Japanese scientist, Dr. Yoshinori Ohsumi has won the 2016 Nobel Prize in Physiology or Medicine for his discoveries of
mechanisms for autophagy, a fundamental process for degrading and recycling cellular components. Dr Ohsumi's work is important
because it helps to explain what goes wrong in a range of illnesses, from cancer to Parkinson's. The prize was awarded by the Nobel
Assembly at the Karolinska Institute in Stockholm, Sweden.



Question (145)

Which one of the following is a vector quantity?
ot # ¥ a1 v | gerd 8/

(A) Momentum/aTfer

(B) Pressure/cdTa

(C) Energy/Zsit

(D) Work/aT

Correct Option : A

Explanation :

(A) Scalars are quantities that have magnitude only; they are independent of direction. Vectors have both magnitude and direction.
Momentum is the product of the mass and velocity of an object (p = mv). Momentum is a vector quantity, since it has a direction as well
as a magnitude. The rest of quantities in option pressure, work and energy have magnitude but not direction.

Question (146)
Presence of ammonia in hair dyes makes

el T T T S H AT T 3uTeAta & arel v @ o §7
(A) Smooth and silky/Famae 3T Yerdr

(B) Brittle and lifeless/geat e 3R frsifa

(C) Thick and long/gar 3R e

(D) Curly/geRTer

Correct Option : B

Question (147)

During dehydration the substance that is usually lost by the body is:
fASTeleor & a1 3MAAR WX R & v gerer v Far gt 872

(A) SugarRITR

(B) Sodium chloride/HNf3a#H FRTES

(C) Calcium phosphate/3ferrIa ®iTthe
(D) Potassium chloride/aeRITe FeiR1ss

Correct Option : C

Question (148)

The disease caused by deficiency of protein in children is called
aﬁ‘iﬁma?raﬁrasﬁrﬁgtrﬂ?raﬁwmm%‘?
(A) Pellagra/dTermam



(B) Marasmus/#RTeAE
(C) Beriberi/s{I-sr

(D) Rickets/g@r 1

Correct Option : B

Question (149)

For which one of the following is capillarity not the reason?

rfaf@a # & fras AT $9aRE v HRoT 718 87

(A) Blotting of ink/ TTET ST T SI3T=AT

(B) Rising of underground water/s{fRaTd TTell &I <TeTa

(C) Spread a water drop on a cotton cloth/Tes Hcll U W Uil & g &l therra

(D) Rising of water from the roots of a plant to its foliage/Tier T ST8T & T &I 3R UTAT T Terd

Correct Option : B

Explanation :

(B) Capillary action, or capillarity, is a phenomenon where liquid spontaneously rises in a narrow space such as a thin tube, or in porous
materials such as paper or in some non-porous materials such as liquefied carbon fibre. This effect can cause liquids to flow against the
force of gravity or the magnetic field induction. In blotting of ink, spread of water drop on a cotton cloth and the rising of water from the
roots of a plant to its foliage.

Question (150)

Full form of URL is
THRTA F qO7 9 §

A) Uniform Resource Locator

)

B) Uniform Resource Link

C) Uniform Registered Link
)

(
(
(
(D

Unified Resource Link

Correct Option : A

Explanation :
(A) A Uniform Resource Locator (URL) is commonly informally referred to as a web address, although the term is not defined identically.
It is a reference to a web resource that specifies its location on a computer network and a mechanism for retrieving it. URLs occur most
commonly to reference web pages (http), and is also used for file transfer (ftp), email (mailto), database access (JDBC), and many other
applications.

Question (151)



The sum of the series

1 1 1 1 1+ _
e
3 0 27 81 18
1 1 1 1
—_——————_ —_— -
=T 379727 81 1 A 2
A 3 B 4
(A) 3 B 3
2 3
Correct Option : D
Explanation :
1
[D) Here = 1 and r= ~3
th ired a 1 3
en required sum = = = =
-r 41l 4

Question (152)

A man sells two wrist watches, one at a profit of 40% and another at a loss of 40%, each have a same selling price of Rs.1320. The net
profit or loss percent is:

uF safad of afsat # & v uS F 40% F G W AT gAY H 40% F g1 W TGN ¢, TIF F GHT qoT 1320% T FA Ao
1 gl gfcrd §are

(A) 25% loss/gTfar
(B) 0%

(C) 9% loss/&Tfet
(D) 16% loss/gTfar

Correct Option : D

Explanation :
40°
D) Loss % = — = 16%
(D) Loss % = 755 o

Question (153)



Area of the trapezium formed by x-axis,
y=axis and the lines 3x+ 4y =12 and 6x + 8y
= 60 is:

x WH, y AF FA0 @MW 3x + 4y = 12 7AW
Gx+ 8y =60 F T T T9F= TG4H F GAFA
1 27

(A) 37.5 sq. unit/=1 TFE

(B) 31.5 sq. unit/af TFE

(C) 48 sq. unit/= 1 F=HE

(D) 36.5 sq. unit/3T TFE

Correct Option : B

Explanation : )
(B) Line 3x + 4y = 12 intersects the Y-axis at
A [0, 3) and X-axis at B = (4, 0]

Line 6x + 8y = 60 intersects the Y-axis at D
(0, 7.5) and X-axis at C = (10, Q)

Hence ABCD is the trapezoidal for which the
area is to calculate

0, 7.5
“E{. S)

A

T
Q. 3)
\E (10, O)

ol 14 0~ [

Area of trapezoidal = Area of DODC — area of
DOAB

= %[10:?.5]-%[4:3;

=37.5-6
=31 .5 an. nmt

Question (154)



Find the value of
ey @y ]- [ +17)]
S0+ (0 J-[(25 + %) e

(4) 0
(B) 1

(C) 2
(D) None of these

Correct Option : C

Explanaton : _
(C) E-17F + (17— (1F +17)
= J1+1]-[-1+1]

Question (155)

P, Q, R and S purchased a restaurant for Rs.56 lakhs. The contribution of Q, R and S together is 460% that of P, alone. The
contribution of P, R and S together is 366.66% that of Q's contribution and the contribution of R is 40% that of P, Q and S together. The
amount contributed by S is:

P, Q,RAYUT S T&h TRT 56% oM@ H TGN Q, RAAT S & REAT P & 37hel HT 460% ¢,| P,RIAT S & Ream Q& fged &1
366.66% & TUT R &1 foedm, P,Qaur S & GEd 1 40% g| S & 9Tl T FT §?

(A) 10 lakhs/em&
(B) 12 lakhs/em&
(C) 16 lakhs/em@
(D) 18 lakhs/em@

Correct Option : C
Explanation :



(C) Let the contribution of P, ), Rand Sbe ¥ p,

Trand ¥ s respectively.

-~ ptgt+tr+s=56

Since contribution of Q, R and 3 together is

460% that of P, alone

Ygqtrr+s=460%of p

ES6-p=460%of p

Ep=7% 10 lakhs

% P contributed ¥ 10 lakhs

Since contribution of P, B and S together is

366.66% that of ()'s contribution

“Wptr+s=360.60%ofqg

B 5S6-q=366.66%0fq

Eg=7% 12 lakhs

Y% Q contributed ¥ 12 lakhs

Since contribution of R is 40% that of P, Q

and S together

Zhr=40%of (p+g+ 5

Br=40%of (56 -1

Br=716 lakh

% R contributed ¥ 16 lakh

% The contribution of 3 = 56 — (10 + 12 + 16)
= 18 lakh

Question (156)

If ¥ = {x-\.l";}lx then find the value of x.

g ={_1:1.|'r;}x dl x =1 A T

4 2
A - J—
9 3
© 3 0) 3
Correct Option : C
Explanation :
a Ax
o _ X 3“ _ .3
C = x
(C) x E 3
-J_ 3x . B
Xyx = ) jequating both equations)
3 9
px =5 px=3



Question (157)

By selling an article, a man gains 5%, if he purchased this at 5% less, he still gains 10% even after reducing its price by Rs.2. Find the
cost price of article.

el HTAET & d9e W TF afad F 5% AT BT §, IE 38 T/ 5% FA W WG §IAT AT 2% FH & H 9T grar ar o 38
Tl WX 10% T oI18T G| THATT T ha Fod FT 872

(A) 400

(B) 500

(C) 1050

(D) 1045

Correct Option : A
Explanation :

X
A) Let CP = x, then SP = 105 ——
A Sy EEEEL 100

Now CP = Q5x A era —lﬂ%su[gsx B Q5x
OWLTT 1op #CEHRT 100 1000

O5x 95x  1045x

SP=Too " Tooo ~ Tooo

1045x  1050x _
1000 1000
B ox = 400

Question (158)

A circle is inscribed in a square. An

equilateral triangle of side 443 cm is
inscribed in that circle. The length of the
diagonal of the square in centimetres is:

TF 9 Tl = % A= T 2 443 T g "
TEE, 99 50 99 F w0 B T & faw =

o O o w e?
(A) 442 B &
(C] &2 D) 16

Correct Option : C
Explanation :



(C) H A G

E F
Area of equilateral triangle ABC
= E - (45}2 = (4_&}1 = 12@ e
4
Again, AD is the height and O is the centre

of the circle
Y Area of DABC

x BC = AD

b | =

1243

1
b12ﬁ=aﬁ4ﬁKADbAD=ﬁ=5

1
\.DD=§AD=2Em

\ OB = ./BD*+0D?
- [Q,E]”wﬂ - fig =4cm

\WSideof square=2=0B=2=x4=8cm
% Diagonal of square

= 2 = side = 8J2 em

Question (159)

BB 53
If 2&=J§_J§—J§+J§,thenﬂm?alue

of xis:

Bifi B4
S e i

ﬁ,?ﬁxﬂﬂﬂﬂ

7 27
(A) 6 (B) 30

(C) Jis (D) 15

Correct Option : D
Explanation :



oy ofs - BB B

V5-43 5+43
N B
fx = J—J_ﬁz
b o/E - [5+3+2J1_55?:35+3—2J1_5}

2
P Jx = 15
BEx=15

Question (160)

If the equation 2x* — Tx + 12 = 0 has two
roots a and b, then the value of E+E 1s:
cr

AT THFED 2@ -Tx+ 12=0F A gl a T b

F @ %+E w1 O ¥ 87

(%4
1 7
N 37 B 57
a7 7
© 53 O 7

Correct Option : A

Explanation :
a b a’+b?
AWyt % = ab
- 7
22 -Tx+12=0pka+b=—=—
a 2
12
and ab = 7 =6
2
& O .
a®+h* [a +b}* —2ab §25 -6 2
then ab - ab - G
9 1,
4




Question (161)

In APQR, S and T are points on sides PR and
PO such that #POR = #PST. I[f FT = 5 cm, FS
= 3 cm and TQ = 3 em, then length of SR is:

APQR #, S @91 T =1 PR @41 PQ W 36 W&
fF £PQR = £PST #1 3% PT = 5 9., PS = 3 9,
a9 TQ = 3 ¥, &, 9 SR %1 @ ¥ &7

(A) 5 cm /T (B) 6 cm /@i,

31 41
© 3 cm/Hd. (D) ) cm /HHL,

Correct Option : C
Explanation :

(C) P

%/ N\

Let SR = x
sPOR = 8PST and 8P is common.
So, 8PRQ = 8PT3

tence, FS _ PT
EHCE,PQ—PR
3 o 3 5
b5+3 = 3 bg——a_l_x P40 =9 + 3x
P x E
3

Question (162)

Shekher can do a piece of work in 45 days, but Sandeep can do the same work in 5 days less than Shekher, when working alone.
Shekher and Sandeep both started the work together, but Sandeep left after some days and Shekher finished the remaining work in 56
days with half of his efficiency, but he did the work with Sandeep with his full efficiency. For how many days they had worke d together?

AR THET HIA Y 45 il 7 H Fehel 8, Fhe] TET 3rehel 3T 1A A1 AW & 516 A H o Fevell 8] AT TAUT FEI 2l
T G HE IR R, fhe] HAT o Fo il o G F O3 &1 TU1 AV FE F AW & A=A 3NN F a7 F 56 oA
# qu R, fheg @9 & A 38 G HETHA ¥ HH FRAT A1 Sgial U A1 Rl el ook T ar?

(A) 6



(B)8

©)9
(D) 12
Correct Option : B
Explanation :

(B) Shekher - 45 8 (working

/ efficiency)
/ \\\
Sandeep - 40 9 [efficiency)

Total work to do done = 360 unit
Shekher work for 56 day with the half

8
efficiency then work done = 56 = 3= 224
Remaining work = 360 - 224 = 136
This work 1z done by both Shekher and
136 a
8+9
Shekher and Sandeep work together for 8
days.

Sandeep together then time taken =

Question (163)

If sec @ + tan « = 2. What is the value of
sin o, where (0 < o < 9072

I secu + tan =2 %I sin o & 9F ﬂ%ﬁlﬁ
(0 < c < 0% 7

(A] 0.4 B 0.5

C) 0.6 D] 0.8

Correct Option : C
Explanation :

[Clzeca+tana=2
1 sina (1+s=sina)
2 p—=2

B - =
cCosd cDsa cCosa

Squaring both the sides

, (Q+sinaf _ (Lrsnaf
cosia l-sin®a)
(1+sina)’ (1+sina)
(1-sina)(l +sina) _ (1-sina) ~

Fl+sina=4-4s8ina
ESsma=23
Bsina=06



Question (164)

Each of the five angles of a polygon is equal to 192° and the other angles are 160° each. The number of sides of the polygon is

fohe agerst & 5ION A & Gedsh PIOT 192° & § TAT TeAl TAh HIT 160° % & SgHST b 3 H HEAT AT §72

Correct Option : B
Explanation :

(B) Let the number of sides be "x.

Then ATOQ,

5= 192+ (x-5) = 160=(x-2) = 180

B 960 + 160x— 800 = 180x— 360 & 20x = 520
So, x=26.

Question (165)
= 1
If x = {JE+1}3 then - — =2
x

'ﬂﬁx={.‘|’§+1}-—; Tﬁxa—%=?

(4) 0 B) -2
) 2 D) —2

Correct Option : B
Explanation :

(B) = Eﬁ+ 13

1 1
bf=ﬁ+lmdF=ﬁ+l

1 1-(VZ+1)

1
then'~ 5 = Ho1~V2* 1= — 5

C1-(2+22+1)  -2-242

N N2 +1 V2 +1

Question (166)



The difference between the simple interest received from two different sources on Rs.1500 for 3 years is Rs.13.50. The difference
between their rate of interest is:

&Y 3TeT-31el9T Wial & 3 auf & fIT 1500% U UIed HTYROT SATST HT e 13.50% §| 3% ATl T 30 & &g &l e FAT 872

(A)
(B) 0.4%
(C) 0.2%
(D) 0.3%
Correct Option : D
Explanation :
] . ] 13.50 9
(D} Dnff. of interest in 1 yr = 5 = 45= 5

Az, the difference iz on ¥ 1500. So, we need
to find the rate of interest and calculation is
to be done on 100

Y On T 100, the difference of interest

22 1 0 100- > —pau
= = g = X = —
2 §15008 1m0 0

Y Dnff. of rate of interest = 0.3%

Question (167)

fxr+y=9and x+y=3, then x*+ 3* =7
TP+ P =0 d@x+y=3T A+ =72
(4) 81 B 32
(C) 27 D) 17

Correct Option : D
Explanation :

D) »® + 1* =9 and x + y = 3 then,
¥rp=(x+y ¥ -xy+ )

9 = 3[(x + y)* - 3x)

5O =3(9-3xy) b9 =27 —9xy
Fay=2
Xty e+ ) = 27

Bt + 3t = 27 — 2((x + 3)* — 2x)
=27_2(9-4)=17

Question (168)



Find the value of 3*+ 43+ 53 + ... 105,
FP+434+ 5%+ 1075 7F T
(4] 3016 (B) 3025
(C] 3028 (D] 2076
Correct Option : A
Explanation : )
.38
(A) 12+ 22 = E‘z =2 =3=9
28
. _E
13423+ 33+ ... +1CI3=E10 112 = 3025
2 @

Y Required sum = 3025 -9 = 3016

Question (169)

A is 60% more than B. B is 20% less than C. What is the ratio of 2A : 3B : 5C ?
A, BH 60% 3118 §| B, CH 20% &# §| 2A : 3B : 5C o Il &1 3e[dicl T 872
A)32:20:25

B)64:60:125

C)64:20:125

D)32:60:25

Correct Option : B
Explanation :

(B) Let C be 100,

a8
then, B = 80 and A = 80 = §=123

then, 2A:3B:5C=2=128:3=80: 5= 10C
=256 :240: 500
=64:60: 125

Question (170)

Ifaz+ a+ 1 =0, then find the value of a° + 2?
g a2 +a+1=0,8 dl a+ 2 F AT 8-

A)
B)
C)
D)

—_ =~ =~ =
o =~ W N

Correct Option : B
Explanation :



(Bla?+a+1=0
pla-1)(at+a+1)=0(a-1)

Fat-1*=0
Fai=1
b[a333= 13
Pa’t+2=1%+2
Fa'+2=3

Question (171)

If ABCD is a ||#. AC and BD be its
diagonals, then which of the statement is
true:

75 ABCD U% H9MIT 934+ 21 AC 30t BD 6%
famel &, @ f1 & & F-m w99 99 2

(A) AB*+BC*+CD®+ DA*= AC*-BD?

(B) AB*+ BC*+ CD*+ DA*=AC*+ BD?

(C) 4AD®=2AC?+2BD?

(D) 4AB?=2AC?-2BC?

Correct Option : B

Explanation :
(B) D C
A B

Given:- ABCD is a parallelogram.
Then, AB* + BC* + CD* + DA®
= AC*+ BD*

Question (172)

From the given options, choose the
appropriate sign.

fau T fawedl | @ 3fEw o= =1 w@m w0
J5+5:5+5 | 1
(A) = (B <
(C) = (o) =

Correct Option : B
Explanation :



B)v¥5,5,5.5 1
J1.1.1
s s s L1

!

So, (B) is the right option.

e

B

|

Question (173)

Directions (73-75): The following pie chart shows
the percentage distribution of the expenditure
incurred in publishing a book. Study the pie
chart and answer the following questions.

Todfer (73-75): Frm wid =2 it Tomemar & weroe &
e & famw ufavm & gviar §1 fao o o = -

JegTE T A e weAt @ 3w 3
Expenditures (In percentage)/
=g (whrra ®)
Transport!  poajpy)

s
Promotion [ 12 15
EEILE]
10 Printing/
H
20
Binding/
Tl
an Paper (&
25

If 5500 copies are published and the
transportation cost on them amounts to
T 825300, then what should be the selling
price of the boolk, so that the publisher can
earn a profit of 25% ?

afz 5500 wfadi &1 FFIeE @ T & 99 39 W
e e =6 T 82500 ¥ 4 fram =1 faws ge
1 B A1, A R 5 25% @9 HHE .
7

A) ¥ 180.50 (B) T182.50
(C] ¥183.50 (D) T 187.50

Correct Option : D
Explanation :



(D) For the publisher to earn a profit of 25%,
S5.P.=125%of C.P.

Also transportation Cost = 10% of C.P.

Let the 5.P. of 5500 books be ¥ x.
10:125=582500: x

1257 82500
=z x=———— = x= 1031250
10
S.P. of boolk = 1051250 = 187.50
.P. of one book = ——-re= = .

Question (174)

Directions (73-75): The following pie chart shows

the percentage distribution of the expenditure
incurred in publishing a book. Study the pie

chart and answer the following questions.
Tdw (73-75): T urd = Tt fommma & weerom &

we % famw wfaym =t zoiar §1 faw o o = -

e wE A e uEt & I 3

Expenditures (In percentage)/
= (i )
Transport)  puealpys

whEF
Promotion f 10 15
[EELE]
10 Printing/
S
20
Binding/
IEEE
30 Paper / FT4
25

Royalty on the book is less than the printing
cost by-

TRl W AR, 9UE YEE W e w5y 27
(A] 20% B] 25%

(C) 30% (D) 35%

Correct Option : B
Explanation :

(B] Printing cost of book = 20% of C.P.
Royalty on book = 15% of C.P.
Difference = (20% — 15%) = 5% of C.P.

& Difference

5
o - = —————— " 100_ %
%o Dnfference EPrinting Cost -1

z5% of C.P.

.
_ X0 T - 100%% = 050
£20% of C.P. 570 =25%



Question (175)

Correct Option : D
Explanation :
(D} Let the rovalty to be paid for these books
be ¥ r.
then
20:15=30600:1

_ 30600 15
B 20

Y Amount of royalty to be paid = ¥ 22950

Br B r= 22950

Question (176)

Direction : In Question nos. 76 to 78 some part of the sentences have errors and some are correct. Find out which part of a
sentence has an error and blacken the oval corresponding to the appropriate letter (A), (B), (C). If a sentence is free from error,
blacken the oval corresponding to (D) in the Answer Sheet.

The car flew off the road (A)/ and fell into the valley because (B)/ Harish was driving faster. (C)/ No error (D)

Correct Option : C

Question (177)

You may choose (A)/ any (B)/ of the two subjects. (C)/ No error (D)

Correct Option : B

Question (178)
The residents opposition to the installation of mobile towers has rekindled an old debate(A)/ among those who support the installation

and (B)/ those who feel that mobile towers are injurious to health. (C)/ No error (D)

Correct Option : B

Question (179)

Directions : In Question nos. 79 to 81, sentences given with blanks to be filled in with an appropriate word(s). Four alternatives
are suggested for each question. Choose the correct alternative out of the four and indicate it by blackening the appropriate
oval in the Answer Sheet.

My mother thinks we are young to have a baby.



(A) much (B) too
(C) more (D) very
Correct Option : B

Question (180)

To try to solve the problem without enquiring into problem is like taking a course of treatment without the disease.
(A) curing (B) prescribing
(C) diagnosing (D) operating

Correct Option : C

Question (181)

How did you in the house party whe everyone was stunned after Allen and Shelly broke up over a petty thing.
(A) shattered silence
(B) break the ice

(C) drop the glass
(D)

D) provoke all

Correct Option : B

Question (182)

Directions : In question nos. 82 to 83, out of the four alternatives, choose the one which best expresses the meaning of the
given word.

TRANSIENT

(A) Temporary (B) Durable
(C) Timely (D) Transparent
Correct Option : A

Question (183)

RETALIATE

(A) Pardon (B) Corrupt
(C) Avenge (D) Rejoice
Correct Option : C

Question (184)

Directions : In question nos. 84 to 85, choose the word opposite in meaning to the given word.
PAUCITY
(A) Paragon (B) Pronounce

(C) Plethora (D) Persuade



Correct Option : C

Question (185)

HOSTILE
(A) Joyful (B) Helpful
(C) Friendly (D) Violent

Correct Option : C

Question (186)

Directions : In question nos. 86, four words are given in each question, out of which only one word is spelt correctly/wrongly
out of them. Find the word spelt correct/wrong and mark your answer in the Answer Sheet.

(A) Spontaneous (B) Spontaneus

(C) Spontenious (D) Spontanous

Correct Option : A

Question (187)

Direction : In Question nos. 87 to 89, four alternative are given for the Idiom/Phrase in bold in below sentences. Choose the
alternative which best expresses the meaning of the Idiom/Phrase and mark it in the Answer Sheet.

For any group work to be successful, it is important that everyone is on the same page.

(A) present for the meeting

(B)

(C) willing to pay the same fees
(D)

Correct Option : D

registered for the work

thinks in a similar way

Question (188)

What we can do is batten down the hatches.
The weather is unpredictable.

(A) stay in door

(B) prepare for a difficult situation

(C) go somewhere safe
(D)

D) face the obstacles

Correct Option : B

Question (189)



We must draw the line somewhere.
(A) fix a limit

B)

(C) turn the tables
D)

(
Correct Option : A

aim at the sky

put the screw on

Question (190)

Direction: In Question nos. 90 to 92, a sentence/ a part of the sentence is italicized in bold. Below are given alternatives to the
italicised part at (A), (B), (C) which may improve the sentence. Choose the correct alternative. In case no improvement is
needed your answer is (D). Mark your answer in the Answer Sheet.

He is very active and will finish the work within no time.
(A) at no time

(B) without taking time
(C) in no time
)

D) No improvement

Correct Option : C

Question (191)

James sat there in stunned silence, to try to ponder over what his father had remarked.
(A)soastotry

(B) trying

(C) as if trying

(D)

Correct Option : B

No improvement

Question (192)

The man to who I sold my house was a cheat.
(A) to whom [ sold
(B) to who | sell

(C) who was sold to
(D)

D) No improvement

Correct Option : A

Question (193)

Direction : In Question nos. 93 to 95, in the following question, out of the four alternatives, choose the one which can be
substituted for the given sentence.

One who knows everything

(A) Omnipresent (B) Omnipotent

(C) Omniscient (D) Almighty



Correct Option : C

Question (194)

Description of a disagreeable thing by an agreeable name
(A) Epithet (B) Epigram
(C) Euphemism (D) Eulogy

Correct Option : C

Question (195)

A book written by an unknown author
(A) Anonymous (B) Acrimonious
(C) Audacious (D) Assiduous

Correct Option : A

Question (196)

Direction (Q. No- 96 - 100) : In these question you have two brief passages with six questions following the passage. Read the
passage carefully and choose the best answer to each question out of the four alternatives.

Passage — 1

Teaching family values creates a foundation which allows your children to make healthy choices on their own. The values you espouse
become your child's moral guide and form the cornerstone of his conscience. What sort of values do you teach? In our family, we talk
about the importance of honesty, integrity, forgiveness, generosity, caring, conservation, respect for the earth and other forms of life.
One of the ways, we encourage expression of these values is through our family's mission statement. Although such values are
expressions of a mature adult, who has realized her responsibility to life and her place in it, children possess the burgeoning integrity to
operate from these values. Even though | use every opportunity to model or discuss important values, | am tickled when | withess my
children making such life-affirming choices on their own. Although making healthy choices is a function of development of
consciousness, | see my children choosing generosity over selfishness, forgiveness over blame and integrity over dishonesty all the
time. Of course teaching family values requires that you become an exemplary role model. If you're not acting from the values you
espouse, then your children will learn that hypocrisy is acceptable.

As per the passage what is true about family values in children?

(A) It can be imbibed in the children by preaching.

(B) These are just development of conciousness, independent of teaching.
(C) It is question of making healthy choices
(D)

D) Family mission statement with practicing in actual can help

Correct Option : D

Question (197)

Teaching family values creates a foundation which allows your children to make healthy choices on their own. The values you espouse
become your child's moral guide and form the cornerstone of his conscience. What sort of values do you teach? In our family, we talk
about the importance of honesty, integrity, forgiveness, generosity, caring, conservation, respect for the earth and other forms of life.
One of the ways, we encourage expression of these values is through our family's mission statement. Although such values are
expressions of a mature adult, who has realized her responsibility to life and her place in it, children possess the burgeoning integrity to
operate from these values. Even though | use every opportunity to model or discuss important values, | am tickled when | witness my
children making such life-affirming choices on their own. Although making healthy choices is a function of development of
consciousness, | see my children choosing generosity over selfishness, forgiveness over blame and integrity over dishonesty all the
time. Of course teaching family values requires that you become an exemplary role model. If you're not acting from the values you



espouse, then your children will learn that hypocrisy is acceptable.

Hypocrisy as described in the passage is similar to

(A) a political leader preaching values

(B) a teacher coming late on a particular

day and asking students to come on time

(C) a regular defaulter without uniform asking juniors to be in uniform all the time

(D) A film actor advertising for a product which he does not use himself

Correct Option : C

Question (198)

Teaching family values creates a foundation which allows your children to make healthy choices on their own. The values you espouse
become your child's moral guide and form the cornerstone of his conscience. What sort of values do you teach? In our family, we talk
about the importance of honesty, integrity, forgiveness, generosity, caring, conservation, respect for the earth and other forms of life.
One of the ways, we encourage expression of these values is through our family's mission statement. Although such values are
expressions of a mature adult, who has realized her responsibility to life and her place in it, children possess the burgeoning integrity to
operate from these values. Even though | use every opportunity to model or discuss important values, | am tickled when | withess my
children making such life-affirming choices on their own. Although making healthy choices is a function of development of
consciousness, | see my children choosing generosity over selfishness, forgiveness over blame and integrity over dishonesty all the
time. Of course teaching family values requires that you become an exemplary role model. If you're not acting from the values you
espouse, then your children will learn that hypocrisy is acceptable.

Which of the following is not an example of the values discussed in the passage?
(A) A husband respecting views of his wife on life

(B) Parents respecting the individuality of their child

(C) An income tax officer not taking huge sums of bribe

(D)

D) A marketing company advertising its product

Correct Option : D

Question (199)

Teaching family values creates a foundation which allows your children to make healthy choices on their own. The values you espouse
become your child's moral guide and form the cornerstone of his conscience. What sort of values do you teach? In our family, we talk
about the importance of honesty, integrity, forgiveness, generosity, caring, conservation, respect for the earth and other forms of life.
One of the ways, we encourage expression of these values is through our family's mission statement. Although such values are
expressions of a mature adult, who has realized her responsibility to life and her place in it, children possess the burgeoning integrity to
operate from these values. Even though | use every opportunity to model or discuss important values, | am tickled when | witness my
children making such life-affirming choices on their own. Although making healthy choices is a function of development of
consciousness, | see my children choosing generosity over selfishness, forgiveness over blame and integrity over dishonesty all the
time. Of course teaching family values requires that you become an exemplary role model. If you're not acting from the values you
espouse, then your children will learn that hypocrisy is acceptable.

What does not show life affirming choices through a developing consciousness?
(A) Only preaching over practising in actual

(B) Choosing generosity over selfishness

(C) Encouraging expression of family values

(D)

D) Realizing your responsibility and then act accordingly

Correct Option : A



Question (200)

Teaching family values creates a foundation which allows your children to make healthy choices on their own. The values you espouse
become your child's moral guide and form the cornerstone of his conscience. What sort of values do you teach? In our family, we talk
about the importance of honesty, integrity, forgiveness, generosity, caring, conservation, respect for the earth and other forms of life.
One of the ways, we encourage expression of these values is through our family's mission statement. Although such values are
expressions of a mature adult, who has realized her responsibility to life and her place in it, children possess the burgeoning integrity to
operate from these values. Even though | use every opportunity to model or discuss important values, | am tickled when | withess my
children making such life-affirming choices on their own. Although making healthy choices is a function of development of
consciousness, | see my children choosing generosity over selfishness, forgiveness over blame and integrity over dishonesty all the
time. Of course teaching family values requires that you become an exemplary role model. If you're not acting from the values you
espouse, then your children will learn that hypocrisy is acceptable.

What is necessary to teach family values?
(A) Preaching children those ethics

(B) Coming ahead and doing what you say
(C) Choosing forgiveness over blame

(D)

D) Children accepting hypocrisy while preaching it

Correct Option : B



